
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

ozQe la[;k	 Vh-ch-lh-% HGY-P-JHKI	 ijh{k.k iqfLrdk vuqozQe

ijh{k.k iqfLrdk 

lkekU; vè;;u
iz'u&i=k&II

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
1-	 ijh{kk çkjEHk gksus ds rqjar ckn vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk Nik] iQVk ;k 

NwVk gqvk i`"B vFkok ç'uka'k vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaA  
2-	 Ñi;k è;ku j•sa fd OMR mÙkj&i=kd esa mfpr LFkku ij jksy uEcj vkSj ijh{k.k iqfLrdk vuqØe A, B, C ;k D dks 

è;ku ls ,oa fcuk fdlh pwd ;k folaxfr ds Hkjus vkSj dwVc¼ 
djus dh f”kEesnkjh mEehnokj dh gSA fdlh Hkh çdkj dh pwd@
folaxfr dh fLFkfr esa mÙkj&i=kd fujLr dj fn;k tk,xkA 

3-	 bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks viuk vuqØekad fy•uk gSA ijh{k.k iqfLrdk ij vkSj dqN 
u fy•saA 

4-	 bl ijh{k.k iqfLrdk esa 80 ç'uka'k (ç'u) fn, x, gSaA çR;sd ç'uka'k fgUnh vkSj vaxzs”kh nksuksa esa Nik gSA çR;sd ç'uka'k 
esa pkj çR;qÙkj (mÙkj) fn, x, gSaA buesa ls ,d çR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA 
;fn vkidks ,slk yxs fd ,d ls vf/d çR;qÙkj lgh gSa] rks ml çR;qÙkj dks vafdr djsa tks vkidks lokZsÙke yxsA çR;sd 
ç'uka'k ds fy, dsoy ,d gh çR;qÙkj pquuk gSA 

5-	 vkidks vius lHkh çR;qÙkj vyx ls fn, x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn, x, funZs'k ns[ksaA 

6-	 lHkh ç'uka'kksa ds vad leku gSaA 

7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu ç'uka'kksa ds çR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
ços'k çek.k&i=k ds lkFk çsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

8-	 vki vius lHkh çR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd v/h{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA 

9-	 dPps dke ds fy, i=kd] ijh{k.k iqfLrdk ds var esa layXu gSaA 
10-	xyr mÙkjksa ds fy, naM %
	 mEehnokj }kjk fn, x, xyr mÙkjksa ds fy, naM fn;k tk,xkA 

(i)	 çR;sd ç'u ds fy, pkj oSdfYid mÙkj gSaA mEehnokj }kjk çR;sd ç'u ds fy, fn, x, ,d xyr mÙkj ds fy, 
ç'u gsrq fu;r fd, x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA 

(ii)	;fn dksbZ mEehnokj ,d ls vf/d mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] ;|fi fn, x, mÙkjksa esa ls ,d 
mÙkj lgh gksrk gS] fiQj Hkh ml ç'u ds fy, mi;ZqÙkQkuqlkj gh] mlh rjg dk naM fn;k tk,xkA 

(iii) ;fn mEehnokj }kjk dksbZ ç'u gy ugha fd;k tkrk gS] vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml ç'u 
ds fy, dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

Note: English version of the instructions is printed on the back cover of this Booklet.
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1.	 A man walks down the backside of his house straight 
25 metres, then turns to the right and walks 50 metres 
again; then he turns towards left and again walks 
25 metres. If his house faces to the East, what is his 
direction from the starting point? 

(a)	 South-East 	

(b)	 South-West 

(c)	 North-East 	

(d)	 North-West 

2.	 Two statements are given followed by two 

Conclusions : 

Statements : 

	 All numbers are divisible by 2. 

	 All numbers are divisible by 3.

Conclusion–I : 

	 All numbers are divisible by 6.

Conclusion–II : 

	 All numbers are divisible by 4.

	 Which of the above conclusions logically follows/
follow from the two given Statements? 

(a)	 Only Conclusion–I 

(b)	 Only Conclusion–II 

(c)	 Neither Conclusion–I  nor Conclusion–II 

(d)	 Both Conclusion–I and Conclusion–II 

3.	 Two Statements are given followed by two 

Conclusions : 

Statements : 

	 All cats are dogs. 

	 All cats are black

Conclusion–I : 

	 All dogs are black.

Conclusion–II : 

	 Some dogs are not black.

1-	 ,d O;fÙkQ vius ?kj osQ ihNs ls lhèks 25 ehVj pyrk gS] 
fiQj og nkfgus eqM+dj 50 ehVj vkSj pyrk gS_ fiQj og 
ck,¡ eqM+dj iqu% 25 ehVj pyrk gSA ;fn mlosQ ?kj dk 
eq• iwoZ dh vksj gS] rks og vius çkjafHkd fcanq ls fdl 
fn'kk esa gS\

(a)	 nf{k.k&iwoZ

(b)	nf{k.k&if'pe

(c)	 mÙkj&iwoZ

(d)	mÙkj&if'pe

2-	 uhps nks dFku fn, x, gSa ftuosQ ckn nks fu"d"kZ fn, x, 
gSa %

dFku%

	 lHkh la[;k,¡ 2 ls foHkkT; gSaA

	 lHkh la[;k,¡ 3 ls foHkkT; gSaA

fu"d"kZµI %

	 lHkh la[;k,¡ 6 ls foHkkT; gSaA

fu"d"kZµII %

	 lHkh la[;k,¡ 4 ls foHkkT; gSaA

Åij fy•s gq, fu"d"kks± esa ls dkSu&lk@ls fn, x, nks dFkuksa 
ls rkfdZd :i ls fudkyk@fudkys tk ldrk@ ldrs gS@gSa\

(a)	 osQoy fu"d"kZµI

(b)	osQoy fu"d"kZµII

(c)	 u rks fu"d"kZµI] u gh fu"d"kZµII

(d) nksuksa fu"d"kZµI vkSj fu"d"kZµII

3-	 uhps nks dFku fn, x, gSa ftuosQ ckn nks fu"d"kZ fn, x, 
gSa %

dFku%

	 lHkh fcfYy;k¡ dqÙks gSaA

	 lHkh fcfYy;k¡ dkyh gSaA

fu"d"kZµI %

	 lHkh dqÙks dkys gSaA

fu"d"kZµII %

	 dqN dqÙks dkys ugha gSaA
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	 Which of the above conclusions logically follows/
follow from the two given statements, disregarding 
commonly known facts? 

(a)	 Only Conclusion–I 

(b)	 Only Conclusion–II 

(c)	 Neither Conclusion–I  nor Conclusion–II 

(d)	 Both  Conclusion–I and Conclusion–II 

4.	 Consider the following sequence of numbers :

5 1 4 7 3 9 8 5 7 2 6 3 1 5 

	         8 6 3 8 5 2 2 4 3 4 9 6 

	 How many odd numbers are followed by the odd 
number in the above sequence? 

(a)	 5 

(b)	 6

(c)	 7

(d)	 8		   

5.	 A is 16th from the left end in a row of boys and V 
is 18th from the right end. G is 11th from A towards 
the right and 3rd from V towards the right end. How 
many boys are there in the row? 

(a)	 40

(b)	 41 

(c)	 42 

(d)	 Cannot be determined due to insufficient data 

6.	 Three Statements S1, S2 and 53 are given below 
followed by a Question :

S1 : C is younger than D, but older than A and B.

S2 :	D is the oldest.

S3 : A is older than B.

Question : 

Who among A, B, C and D is the youngest?

lkekU; Kkr rF;ksa dh mis{kk djrs gq,] Åij fy•s gq, 
fu"d"kks± esa ls dkSu&lk@ls fn, x, nks dFkuksa ls rkfdZd 
:i ls fudkyk@fudkys tk ldrk@ldrs gS@gSa\

(a)	 osQoy fu"d"kZµI

(b)	osQoy fu"d"kZµII

(c)	 u rks fu"d"kZµI] u gh fu"d"kZµII

(d)	nksuksa fu"d"kZµI vkSj fu"d"kZµII

4-	 fuEufyf•r la[;kvksa osQ vuqØe ij fopkj dhft, %

5 1 4 7 3 9 8 5 7 2 6 3 1 5

   8 6 3 8 5 2 2 4 3 4 9 6
Åij fy•s gq, vuqØe esa fdruh fo"ke la[;kvksa osQ ckn 
fo"ke la[;k vkrh gS\

(a)	 5

(b) 6

(c) 7

(d) 8

5-	 yM+dksa dh ,d iafÙkQ esa A ck,¡ Nksj ls 16osa LFkku ij 
vkSj V nk,¡ Nksj ls 18osa LFkku ij gSA G] A dh nkb± vksj 
11osa vkSj V ls rhljs LFkku ij nkfgus Nksj dh vksj gSA 
iafÙkQ esa fdrus yM+osQ gSa\

(a)	 40

(b)	41

(c)	 42

(d)	vi;kZIr vk¡dM+ksa osQ dkj.k fuèkkZfjr ugha fd;k tk 
ldrk gS

6-	 rhu dFku S1, S2 vkSj S3 uhps fn, x, gSa ftlosQ mijkar 
,d ç'u gS %
S1 % C, D ls NksVk ij A vkSj B ls cM+k gSA
S2 % D lcls cM+k gSA
S3 % A] B ls cM+k gSA

ç'u %

A, B, C vkSj D esa ls lcls NksVk dkSu gS\
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	 Which one of the following is correct in respect of 
the above Statements and the  Question?

(a)	 S1 alone is sufficient to answer the Question.

(b)	 S1 and S2 together are sufficient to answer the 
Question.

(c)	 S2 and S3 together are sufficient to answer the 
Question.

(d)	 S1 and S3 together are sufficient to answer the 
Question. 

7.	 How many integers are there between 1 and 100 which 
have 4 as a digit but are not divisible by 4?

(a)	 5

(b)	 11	

(c)	 12

(d)	 13 

8.	 Let x, y be the volumes; m, n be the masses of two 
metallic cubes P and Q respectively. Each side of 
Q is two times that of P and mass of Q is two times 
that of P. Let u = m/x and v = n/y. Which one of the 
following is correct? 

(a)	 u = 4v 

(b)	 u = 2v 

(c)	 v = u 

(d)	 v = 4u 

9.	 The average age of a teacher and three students is 20 
years. If all the three students are of same age and the 
difference between the age of the teacher and each 
student is 20 years, then what is the age of the teacher? 

(a)	 25 years

(b)	 30 years 

(c)	 35 years 

(d)	 45 years 

fuEufyf•r esa ls dkSu&lk Åij fy•s gq, dFkuksa vkSj ç'u 
osQ lanHkZ esa lgh gS\

(a)	 S1 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(b)	 S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 
gSaA

(c)	 S2 vkSj S3 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 
gSaA

(d)	 S1 vkSj S3 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 
gSaA

7-	 1 vkSj 100 osQ eè; fdruh ,slh iw.kZ la[;k,¡ gSa ftuesa 
,d vad 4 gS ysfdu os 4 ls foHkkT; ugha gSa\

(a)	 5

(b)	11

(c)	 12

(d)	13

8-	 ekuk fd nks èkkrq osQ ?kuksa P vkSj Q osQ Øe'k% x] y vk;ru 
gSa_ m] n æO;eku gSaA Q dh çR;sd Hkqtk P dh nksxquh gS 
vkSj Q dk æO;eku P dk nksxquk gSA ekuk fd u ¾ m/x 
vkSj v ¾ n/y gSA fuEufyf•r esa ls dkSu&lk lgh gS\

(a) u ¾ 4v

(b) u ¾ 2v

(c) v ¾ u

(d)	 v ¾ 4u

9-	 ,d f'k{kd vkSj rhu Nk=kksa dh vkSlr vk;q 20 o"kZ gSA 
;fn rhuksa Nk=k leku vk;q osQ gksa vkSj f'k{kd rFkk çR;sd 
Nk=k dh vk;q dk varj 20 o"kZ gks] rks f'k{kd dh vk;q 
fdruh gS\

(a) 25 o"kZ

(b) 30 o"kZ

(c) 35 o"kZ

(d) 45 o"kZ
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10.	 A person bought a car and sold it for ̀  3,00,000. If he 
incurred a loss of 20%, then how much did he spend 
to buy the car? 

(a)	 ` 3,60,000

(b)	 ` 3,65,000

(c) 	 ` 3,70,000

(d)	 ` 3,75,000

Directions for the following 7 (seven) items : 
Read the following five passages and answer the items that 
follow. Your answers to these items should be  based on the 
passages only. 

Passage–1 
Private investment in general is volatile. Foreign private 
investment is more volatile because the available investment 
avenues are significantly greater (i.e., the entire world). 
Therefore, the responsibility of providing employment 
cannot be left to Foreign Direct Investment (FDI). The 
current FDI inflows are volatile over time and across sectors 
and regions, which is a necessary consequence of their 
search for the highest returns. The adverse consequences 
are unstable employment and an accentuation of income 
and regional inequalities. A probable positive consequence 
of foreign investment is the inflow of new technology and 
its subsequent diffusion. However, the technology diffusion 
is not at all certain because the existing state of physical 
and human capital in India may prove inadequate for the 
diffusion. 

11.	 With reference to the above passage, the following 
assumptions have been made : 

1.	 Relying on foreign investment in the long run is not 
an economically sound policy. 

2. 	 Policies must be undertaken to reduce volatility in 
foreign private investment. 

3. 	 Policies must be undertaken to strengthen domestic 
private investment. 

4.	 Public investment should be given priority over 
private investment. 

5.	 Substantial public investment in education and 
health should be undertaken. 

10-	,d O;fÙkQ us ,d dkj •jhnh vkSj ` 3]00]000 esa csp nhA 
;fn mls 20» dh gkfu mBkuh iM+h] rs mlus dkj •jhnus 
esa fdrus #i;s •pZ fd,\

(a) ` 3]60]000

(b) ` 3]65]000

(c) ` 3]70]000

(d) ` 3]75]000

fuEufyf•r 7 (lkr) ç'uka'kksa osQ fy, funZs'k %
uhps fn, x, ik¡p ifjPNsnksa dks if<+, vkSj ifjPNsnksa osQ uhps 
vkus okys ç'uka'kksa osQ mÙkj nhft,A bu ç'uka'kksa osQ vkiosQ mÙkj 
osQoy bu ifjPNsnksa ij gh vkèkkfjr gksus pkfg,A

ifjPNsnµ1

futh fuos'k lkekU;r% piy gSA fons'kh futh fuos'k vkSj Hkh 
vfèkd piy gS D;ksafd muosQ fy, miyCèk fuos'k fodYi 
dkiQh vfèkd gSa (vFkkZRk~] lewpk lalkj)A blfy, jks”kxkj nsus dk 
nkf;Ro fons'kh çR;{k fuos'k (FDI) ij ugha NksM+k tk ldrkA 
lkaçfrd FDI varokZg lHkh le; vkSj lHkh lsDVjksa rFkk {ks=kksa osQ 
lanHkZ esa piy gksrk gS] tks muosQ vfèkdre çfriQy dh ryk'k 
dk vko';d ifj.kke gSA vfLFkj jks”kxkj vkSj vk; ,oa {ks=kh; 
vlekurkvksa dk çcyu mlosQ nq"ifj.kke gSaA fons'kh fuos'k dk 
,d laHkkfor ldkjkRed ifj.kke gS ubZ çkS|ksfxdh dk varoZgu 
vkSj mldk vuqorhZ folj.kA rFkkfi] çkS|ksfxdh folj.k ,dne 
lqfuf'pr ugha gS] D;ksafd folj.k osQ fy, Hkkjr esa HkkSfrd ,oa 
ekuoh; iw¡th dh orZeku fLFkfr vi;kZIr lkfcr gks ldrh gSA

11-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 nh?kZdky esa fons'kh fuos'k ij Hkjkslk djuk vkfFkZd 
:i ls ,d lgh uhfr ugha gSA

2-	 ,slh uhfr;ksa dks viuk;k tkuk pkfg, tks fons'kh futh 
fuos'k esa piyrk dks de dk losQaA

3-	 ?kjsyw futh fuos'k dks l'kÙkQ cukus okyh uhfr;k¡ viuk;h 
tkuh pkfg,A

4-	 futh fuos'k dh vis{kk lkoZtfud fuos'k dks vfèkd 
çkFkfedrk nsuh pkfg,A

5- 	f'k{kk ,oa LokLF; {ks=k esa i;kZIr lkoZtfud fuos'k 
fd;k tkuk pkfg,A
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	 Which of the above assumptions is/are valid? 

(a)	 1, 2 and 4

(b)	 1, 3 and 5

(c)	 2, 4 and 5

(d)	 3 only 
Passageµ2 

Many opportunities to harness the highly skewed, seasonal 
and spatial distribution of monsoon flows, which occur in a 
four-month period from June to September annually, have 
been lost. Since these few months account for most of the 
rainfall and consequent freshwater availability, the need for 
holding rainwater in reservoirs, for subsequently releasing 
it for use over the year, is a necessity nobody can afford to 
overlook. Climate change will continue to affect weather 
conditions and create water shortages and excesses. While 
millions suffer from droughts and floods, waters in the 
country's many rivers flow unutilized, and are discharged 
into the  sea every year. 

12.	 With reference to the above passage, which of the 
following could be the most rational and practical 
implications for India? 

1.	 Inter-linking of rivers should be undertaken.

2.	 A network of dams and canals should be built across 
the country for proper distribution of water. 

3.	 Farmers should be provided easy loans for digging 
borewells.

4.	 Usage of water for agriculture should be regulated 
by law. 

5. 	 Distribution of river water among regions should 
be regulated by the Union Government. 

	 Select the correct answer using the code given below.

(a)	 1 and 2

(b)	 2, 4 and 5

(c)	 1, 3 and 4

(d)	 2, 3 and 5 

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a) 1] 2 vkSj 4

(b) 1] 3 vkSj 5

(c) 2] 4 vkSj 5

(d) osQoy 3

ifjPNsnµ2
çfro"kZ twu ls flrEcj osQ pkj eghuksa osQ nkSjku gksus okys ekulwuh 
çokgksa osQ vR;fèkd fo"ke] ½rqfu"B ,oa LFkkfud forj.k osQ 
mi;ksx osQ dbZ voljksa dks •ks;k tk pqdk gSA pw¡fd bu dqN 
eghuksa esa gh vfèkdka'k o`f"V gksrh gS ,oa ifj.kker% LoPN 
ty miyCèk gksrk gS] tyk'k;ksa esa o"kkZ osQ ty osQ lap;u dh 
vko';drk vkSj ckn esa o"kZ&Hkj mi;ksx gsrq NksM+uk] ,d ,slh 
vfuok;Zrk gS ftldh dksbZ mis{kk ugha dj ldrkA tyok;q ifjorZu 
ekSle dh fLFkfr;ksa dks lnk çHkkfor djrk jgsxk vkSj ty dh 
vYirk rFkk blosQ vkfèkD; dks mRiUu djsxkA tgk¡ yk•ksa yksx 
lw•s ,oa ck<+ ls ihfM+r gksrs gSa ogha ns'k dh dbZ ufn;ksa esa ikuh 
vç;qÙkQ cgrk jgrk gS vkSj çR;sd o"kZ leqæ esa cg tkrk gSA

12- mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r esa ls dkSu&lk 
Hkkjr dh n`f"V ls lokZfèkd rdZlaxr ,oa O;kogkfjd 
fufgrkFkZ gks ldrk gS\

1-	 ufn;ksa osQ var%lacaèku dks çkjaHk fd;k tkuk pkfg,A 

2-	 ty osQ ;Fkksfpr forj.k osQ fy, iwjs ns'k esa ck¡èkksa ,oa 
ugjksa osQ usVodZ dk fuekZ.k fd;k tkuk pkfg,A

3-	 Ñ"kdksa dks cksjosy dh •qnkbZ osQ fy, lqyHk ½.k fn;k 
tkuk pkfg,A

4-	 Ñf"k esa ty osQ ç;ksx dks dkuwuh :i ls fu;af=kr 
fd;k tkuk pkfg,A

5-	 osaQæ ljdkj }kjk fofHkUu {ks=kksa esa ufn;ksa osQ ty osQ 
forj.k dks fu;af=kr fd;k tkuk pkfg,A 

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,A

(a) 1 vkSj 2

(b) 2] 4 vkSj 5

(c) 1] 3 vkSj 4

(d) 2] 3 vkSj 5
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Passage –3
People will invest in education whenever they are granted the 
economic freedom to fully enjoy its benefits Again, this is 
for the obvious reason that the return on education increases 
as the level of economic freedom rises. When people, 
thanks to lower tax rates, are allowed to retain most of the 
higher income that they gain from cach incremental level 
of education, it makes eminent sense to invest in education. 
On the  other hand, when the government decides to tax the 
higher income of educated individuals at even higher rates, it 
makes very little sense to invest in educating oneself further. 
The same incentives apply to parents who decide on whether 
to invest in their children's education. 

13.	 With reference to the above passage, the following 
assumptions have been made : 

1.	 Lower tax rates in a country invariably translate 
into greater investments in higher education. 

2.	 Investment in the education of children ensures their 
economic freedom.

3.	 Economic freedom has a positive impact on 
building up human capital.

Which of the above assumptions is/are valid?

(a)	 1 only

(b)	 2 only

(c)	 3 only

(d)	 1, 2 and 3 
Passage–4

Our urban bodies cannot possibly ensure sustainable delivery 
of water in our cities unless financing mechanisms are put in 
place. Water delivery requires heavy investment in collecting 
it from a natural source, treating it to make it potable, and 
laying a distribution network of pipes for delivery to the 
users. It also requires investments in sewerage infrastructure 
and sewage treatment plants so that the sewers can carry 
the wastewater to these plants to ensure that no untreated 
sewage is discharged back into natural water bodies. If our 

ifjPNsnµ3
tc f'k{kk ls feyus okys ykHk dk mi;ksx djus dh vkfFkZd 
Lora=krk çkIr gksxh] rHkh yksx f'k{kk esa fuos'k djsaxsA bl çR;{k 
dkj.k dh otg ls vkfFkZd Lora=krk osQ Lrj esa o`f¼ osQ lkFk 
gh f'k{kk ls çkIr gksus okyk ykHk Hkh c<+ tkrk gSA fuEu dj 
njksa osQ dkj.k tc yksxksa dks f'k{kk osQ çR;sd c<+rs Lrj ls 
çkIr c<+h gqbZ vk; osQ vfèkdka'k Hkkx dks vius ikl j•us dh 
vuqefr gksrh gS rc f'k{kk esa fuos'k ,d vPNh lw>&cw> dh 
ckr gksrh gSA nwljh vksj tc ljdkj f'kf{kr O;fÙkQ;ksa dh c<+h 
gqbZ vk; ij vkSj Å¡ph njksa ij dj yxkus dk fu.kZ; ysrh gS] 
rc Lo;a dks vfèkd f'kf{kr djus esa fuos'k djuk le>nkjh 
dh ckr ugha yxrhA ;gh çksRlkgu mu vfHkHkkodksa ij Hkh ykxw 
gksrk gS ftUgsa ;g fu.kZ; ysuk gS fd os vius cPpksa dh f'k{kk 
ij fuos'k djsa ;k ughaA

13-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 fdlh ns'k esa fuEu dj nj fujiokn :i ls mPp f'k{kk 
esa vfèkd fuos'k osQ fy, ifj.kr gks tkrh gSaA

2-	 cPpksa dh f'k{kk esa fuos'k mudh vkfFkZd Lora=krk dks 
lqfuf'pr djrk gSA

3- 	vkfFkZd Lora=krk dk ekuo iw¡th fuekZ.k ij ldkjkRed 
çHkko gksrk gSA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a) osQoy 1

(b) osQoy 2

(c) osQoy 3

(d) 1] 2 vkSj 3
ifjPNsnµ4

tc rd foÙkh;u ra=k LFkkfir u gks tk, rc rd gekjs 'kgjh 
fudk; laHkor% gekjs 'kgjksa esa tykiwfrZ dh èkkj.kh; O;oLFkk 
lqfuf'pr ugha dj ldrsA tykiwfrZ osQ fy, çkÑfrd lzksrksa ls 
ty lafpr djus] mls ihus&;ksX; cukus dh vfHkfØ;k] rFkk 
miHkksÙkQkvksa rd mldh vkiwfrZ djus osQ fy, ikbiksa osQ tyforj.k 
usVodZ fcNkus esa Hkkjh fuos'k dh vko';drk gksrh gSA mlesa 
ey&çcaèku vèk%lajpuk ,oa ey&ty vfHkfØ;k la;a=kksa esa Hkh 
fuos'k dh vko';drk gksrh gS] ftlls ey&ç.kky vif'k"V ty 
dks bu la;a=kksa rd ys tk losQa vkSj ;g lqfuf'pr fd;k tk loasQ 
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cities were rich enough to meet the entire cost, water could 
be delivered free. They are not. 

14.	 What is the most logical and crucial message 
conveyed by the passage?

(a)	 Urban local bodies must recover costs through user 
charges.

(b)	 Urban local bodies are not efficient enough to meet 
the water requirements of our cities.

(c)	 Water shortage in our cities is a perennial problem 
that cannot be solved.

(d)	 In view of the water crisis in our cities, there is 
an urgent need to limit the population of cities by 
adopting an upper limit of population size. 

15.	 With reference to the above passage, the following 
assumptions have been made :

1.	 Rich cities only can ensure sustainable delivery of 
water.

2.	 Sustainable delivery of water in cities means much 
more than supplying water to households.

	 Which of the above assumptions is/are valid?

(a)	 1 only

(b)	 2 only

(c)	 Both 1 and 2

(d)	 Neither 1 nor 2 

Passage–5 
In India, agriculture still engages about half of its workforce, 
and about 85 per cent of its farms are small and marginal. 
Compared to China and Vietnam, which have experienced 
fast structural and rural transformation, India's story is of 
slow transformation. As a result, poverty reduction in India 
was at a much slower pace during 1988-2014, compared 
to China and Vietnam. India's poverty reduction was slow 
during 1988-2005, but during 2005-2012, it accelerated 
dramatically—almost three times faster than during the 

fd vlalkfèkr ey&ty çkÑfrd ty fudk;ksa esa fcydqy gh 
ugha NksM+k tk,A ;fn gekjs 'kgj brus le`¼ gksrs fd oks iwjh 
ykxr dks ogu dj ldrs rks ty dh fu%'kqYd iwfrZ dh tk 
ldrh gSA os ,sls ugha gSaA

14-	ifjPNsn }kjk laçsf"kr lokZfèkd rkfdZd vkSj fu.kkZ;d 
lans'k D;k gS\

(a)	 'kgjh LFkkuh; fudk;ksa dks miHkksÙkQk 'kqYdksa osQ ekè;e 
ls ykxr olwyuh pkfg,A

(b)	'kgjh LFkkuh; fudk; gekjs 'kgjksa dh ty vko';drkvksa 
dks iw.kZ djus osQ fy, i;kZIr :i ls n{k ugha gSaA

(c)	 gekjs 'kgjksa esa ty dk vHkko ,d fpjLFkk;h leL;k 
gS ftldk lekèkku lEHko ugha gSA

(d)	gekjs 'kgjksa esa ty&ladV dh n`f"V ls ;g cgqr 
vko';d gS fd 'kgjksa esa tula[;k dk ,d vfèkdre 
vkdkj fuèkkZfjr dj 'kgjksa dh tula[;k dks lhfer 
fd;k tk,A

15-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 osQoy èkuh 'kgj gh ty dh èkkj.kh; vkiwfrZ dks 
lqfuf'pr dj ldrs gSaA

2-	 'kgjksa esa ty dh èkkj.kh; vkiwfrZ dk vFkZ dqVqEcksa dks 
ty dh vkiwfrZ djus ls dgha vfèkd gSA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2
ifjPNsnµ5

Hkkjr esa] vHkh Hkh yxHkx ipkl çfr'kr dkexkj Ñf"k esa 
fofu;ksftr gSa] rFkk yxHkx 85 çfr'kr •sr NksVs vkSj lhekar gaSA 
phu vkSj fo;ruke dh rqyuk esa] tgk¡ rs”k xfr ls lajpukRed 
vkSj xzkeh.k ifjorZu gq,] Hkkjr dh dgkuh èkhes ifjorZu dh 
gSA ifj.kkeLo:i Hkkjr esa xjhch&ßkl] phu vkSj fo;ruke dh 
rqyuk esa] 1988&2014 osQ chp cgqr èkheh xfr dk FkkA Hkkjr 
dk xjhch&ßkl 1988&2005 osQ chp èkhek Fkk] ijarq 2005&2012 
osQ nkSjku ;g ukVdh; xfr ls c<+kµiwoZ osQ dky dh rqyuk esa 
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earlier period. What did India do during this period? Research 
reveals that the relative price scenario changed significantly 
(by more than 50%) in favour of agriculture in the wake of 
rising global prices. This boosted private investments in 
agriculture by more than 50%. As a result, agri-GDP growth 
touched 4.1% during 2007-2012 as against 2-4% during 
2002-2007. The net surplus of agri-trade touched $25 billion 
in 2013-2014; real farm wages rose by 7% per annum. All 
this led to unprecedented fall in poverty. 

16.	 With reference to the above passage, the following 
assumptions have been made :

1.	 Structural and rural transformation is impossible 
when farms are mainly small and marginal.

2.	 A good price incentive can trigger investments in 
agriculture.

3.	 India needs to build value chains for high-value 
agri-products, like livestock and horticulture.

4.	 Higher global prices of agricultural commodities 
are essential for India's poverty reduction.

	 Which of the above assumptions are valid? 

(a)	 1 and 3

(b)	 2 and 4

(c)	 2 and 3

(d)	 3 and 4 

17.	 Which one of the following statements best reflects 
the critical message of the passage? 

(a)	 India should create large-scale off-farm rural 
employment to reduce poverty in the near future. 

(b)	 India should create a large number of farmer 
producer companies.

(c)	 Private investment in agriculture should be given 
priority over public investment. 

(d)	 Inclusive agricultural growth is key to reduce 
poverty in the near future. 

rhu xquk rs”k xfr lsA bl dky esa Hkkjr us D;k fd;k\ 'kksèk 
ls irk pyrk gS fd lkis{k dherksa dk n`';ys•] c<+rh oSf'od 
dherksa osQ ifj.kkeLo:i] Ñf"k osQ i{k esa egÙoiw.kZ <ax ls 
ifjofrZr gqvk gS (50» ls Hkh vfèkd)A blls Ñf"k esa futh 
fuos'k 50» ls Hkh vfèkd c<+kA ifj.kkeLo:i] Ñf"k&th-Mh-ih- 
dh o`f¼ us 2002&2007 osQ 2&4» osQ eqdkcys 2007&2012 
esa 4-1» osQ Lrj dks NqvkA Ñf"k&O;kikj osQ fuoy vfèk'ks"k us 
2013&2014 esa $25 fcfy;u osQ Lrj dks Nqvk_ okLrfod Ñf"k 
e”knwjh 7» çfro"kZ dh nj ls c<+hA bu lcosQ dkj.k xjhch esa 
vHkwriwoZ fxjkoV vkbZA

16-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1- 	tc Ñf"k tksr ewyr% NksVs vkSj lhekar gksa rc 
lajpukRed vkSj xzkeh.k ifjorZu vlaHko gSA

2-	 vPNh dher çksRlkgu Ñf"k esa fuos'k dks çsfjr dj 
ldrh gSA

3-	 Hkkjr osQ fy, mPp ewY; osQ Ñf"k&mRiknksa] tSls fd 
i'kqèku vkSj ckxokuh] osQ fy, ewY;& Ük`a•ykvksa (value 
chains) dks cukus dh vko';drk gSA

4-	 Ñf"k&eky dh mPp oSf'od dhersa Hkkjr osQ xjhch&ßkl 
osQ fy, vko';d gSaA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk,¡ oSèk gSa\

(a) 1 vkSj 3

(b) 2 vkSj 4

(c) 2 vkSj 3

(d) 3 vkSj 4

17-	fuEufyf•r esa ls dkSu&lk dFku ifjPNsn osQ Økafrd lans'k 
dk lokZsÙke çs"k.k djrk gS\

(a) fudV Hkfo"; esa Hkkjr dh xjhch de djus osQ fy, cM+s 
iSekus ij Ñ"khrj xzkeh.k jks”kxkj l`ftr djuk pkfg,A 

(b) Hkkjr dks cM+s iSekus ij Ñ"kd mRikn daifu;k¡ l`ftr 
djuh pkfg,A

(c) Ñf"k esa yksd fuos'k dh rqyuk esa futh fuos'k dks 
çkFkfedrk nsuh pkfg,A

(d) fudV Hkfo"; esa xjhch de djus osQ fy, lekos'kh 
Ñf"k fodkl eq[; lekèkku gSA
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18.	 Two Statements S1 and S2 are given below with 
regard to four numbers P, Q, R and S followed by a 
Question :

S1: R is greater than P as well as Q.

S2: S is not the largest one.

Question : 

	 Among four numbers P, Q, Rand S, which one is the 
largest?

	 Which one of the following is correct in respect of 
the above Statements and the Question? 

(a)	 S1 alone is sufficient to answer the Question. 

(b)	 S2 alone is sufficient to answer the Question. 

(c)	 S1 and S2 together are sufficient to answer the 
question, but neither S1 alone nor S2 alone is 
sufficient to answer the Question.

(d)	 S1 and S2 together are not sufficient to answer the 
Question. 

19.	 Two Statements S1 and S2 are given below followed 
by a Question :

S1 : n is a prime number.

S2 : n leaves a remainder of 1 when divided by 4.

Question : 

	 If n is a unique natural number between 10 and 20, 
then what is n?

	 Which one of the following is correct in respect of 
the above Statements and the Question?

(a)	 S1 alone is sufficient to answer the Question.

(b)	 S2 alone is sufficient to answer the Question.

(c)	 S1 and S2 together are sufficient to answer the 
question, but neither S1 alone nor S2 alone is 
sufficient to answer the Question.

(d)	 S1 and S2 together are not sufficient to answer the 
Question. 

18-	pkj la[;kvksa P] Q] R vkSj S osQ lacaèk esa nks dFku S1 

vkSj S2 rFkk muosQ mijkar ,d ç'u fn;k x;k gS %

S1 % R] P vkSj Q ls cM+k gSA

S2 % S lcls cM+k ugha gSA

ç'u %

pkj la[;kvksa P] Q] R vkSj S esa dkSu&lk lcls cM+k gS\

fuEufyf•r esa ls dkSu&lk mi;ZqÙkQ dFkuksa vkSj ç'u osQ 

fy, lgh gS\

(a)	 S1 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(b)	 S2 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(c)	 nksuksa dFku S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus 

osQ fy, i;kZIr gSa fdUrq u rks vosQyk S1 vkSj u gh 

vosQyk S2 ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(d)	 S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 

ugha gSaA

19-	nks dFku S1 vkSj S2 uhps fn, x, gSa vkSj muds mijkar ,d 

ç'u fn;k x;k gS %

 S1 %  ,d vHkkT; la[;k gSA

 S2 %  dks 4 ls foHkkftr djus ij 1 'ks"k vkrk gSA

ç'u%

	 ;fn n] 10 vkSj 20 osQ chp ,dek=k çkÑfrd la[;k gS] 

rks n D;k gS\

fuEufyf•r esa ls dkSu&lk mi;ZqÙkQ dFkuksa vkSj ç'u ds 

fy, lgh gS\

(a)	 S1 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(b)	 S2 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(c)	 nksuksa dFku S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ 

fy, i;kZIr gSa fdUrq u rks vosQyk S1 vkSj u gh vosQyk 

S2 ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(d)	 S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 

ugha gSaA
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20.	 Two Statements S1 and S2 are given below with 

regard to two numbers followed by a Question :

S1 : Their product is 21.

S2 : Their sum is 10.

Question : 

	 What are the two numbers? 

	 Which one of the following is correct in respect of 

the above Statements and the Question?

(a)	 S1 alone is sufficient to answer the Question.

(b)	 S2 alone is sufficient to answer the Question.

(c)	 S1 and S2 together are sufficient to answer the 

Question, but neither S1 alone nor S2 alone is 

sufficient to answer the Question.

(d)	 S1 and S2 together are not sufficient to answer the 

Question. 

21.	 In the sum 

 + 1  + 5 +  + 1 = 1  

for which digit does the symbol  stand? 

(a)	 2

(b)	 3 

(c)	 4

(d)	 5

22.	 If you have two straight sticks of length 7.5 feet 
and 3.25 feet, what is the minimum length can you 
measure? 

(a)	 0.05 foot 

(b)	 0.25 foot 

(c)	 1 foot 

(d)	 3.25 feet 

20-	nks la[;kvksa osQ lacaèk esa nks dFku S1 vkSj S2 uhps fn, x, 

gSa vkSj muosQ mijkar ,d ç'u fn;k x;k gS %

 S1 % mudk xq.kuiQy 21 gSA

 S2 % mudk ;ksx 10 gSA

ç'u%

os nks la[;k,¡ D;k gSa\

fuEufyf•r esa ls dkSu&lk mi;ZqÙkQ dFkuksa vkSj ç'u osQ 

fy, lgh gS\

(a)	 S1 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(b)	 S2 vosQys gh ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(c)	 nksuksa dFku S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus 

osQ fy, i;kZIr gSa fdUrq u rks vosQyk S1 vkSj u gh 

vosQyk S2 ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(d)	 S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 

ugha gSaA

21-	;ksx

 + 1  + 5 +  + 1 = 1  

esa çrhd V fdl vad dks n'kkZrk gS\

(a)	 2

(b)	 3

(c)	 4

(d)	 5

22-	;fn vkiosQ ikl nks lhèkh 7-5 iQqV vkSj 3-25 iQqV dh NM+sa 

gSa] rks vki de&ls&de fdruh yEckbZ uki ldrs gSa\

(a) 0-05 iQqV

(b) 0-25 iQqV

(c) 1 iQqV

(d) 3-25 iQqV
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23.	 A simple mathematical operation in each number of 
the sequence 14, 18, 20, 24, 30, 32, ... results in a 
sequence with respect to prime numbers. Which one 
of the following is the next number in the sequence? 

(a)	 34

(b)	 36

(c)	 38

(d)	 40

24.	 One page is torn from a booklet whose pages are 
numbered in the usual manner starting from the first 
page as 1. The sum of the numbers on the remaining 
pages is 195. The torn page contains which of the 
following numbers? 

(a)	 5, 6

(b)	 7, 8

(c)	 9, 10

(d)	 11, 12 

25.	 Consider the following arrangement that has some 
missing letters: 

abab_b_bcb_dcdcded_d

	 The missing letters which complete the arrangement 
are 

(a)	 a, b, c, d

(b)	 a, b, d, e

(c)	 a, c, c, e

(d)	 b, c, d, e 

26.	 Let A3BC and DE2F be four-digit numbers where 
each letter represents a different digit greater than 3. 
If the sum of the numbers is 15902, then what is the 
difference between the values of A and D? 

(a)	 1

(b)	 2

(c)	 3

(d)	 4 

23-	vuqØe 14] 18] 20] 24] 30] 32] --- dh çR;sd la[;k esa 

,d ljy xf.krh; lafØ;k }kjk vHkkT; la[;kvksa dk ,d 

vuqØe çkIr fd;k tkrk gSA fuEu esa ls dkSu&lh vuqØe 

dh vxyh la[;k gS\

(a)	 34

(b)	 36

(c)	 38

(d)	 40

24-	,d iqfLrdk] ftlosQ iUus lkekU; :i ls gSa] igys iUus 

dh la[;k 1 ls çkjEHk djrs gq, vafdr gSA bl iqfLrdk 

ls ,d iUuk iQkM+ fy;k tkrk gSA cps gq, iUuksa ij vafdr 

i`"B la[;kvksa dk ;ksx 195 gSA iQVs gq, iUus ij fuEu esa 

ls dkSu&lh la[;k,¡ gSa\

(a) 5] 6

(b) 7] 8

(c) 9] 10

(d) 11] 12

25- fuEu foU;kl ij è;ku nhft,] ftlesa dqN yqIr o.kZ gSa %
abab_b_bcb_dcdcded_d 
yqIr o.kZ] tks fd foU;kl dks iw.kZ djrs gSa@gSa

(a)	 a, b, c, d

(b) a, b, d, e

(c) a, c, c, e

(d) b, c, d, e

26-	ekuk fd A3BC vkSj DE2F pkj vadksa dh la[;k,¡ gSa] 
tgk¡ çR;sd o.kZ 3 ls cM+s fHkUu vad dks n'kkZrk gSA ;fn 
la[;kvksa dk ;ksx 15902 gS] rks A vkSj D osQ ekuksa osQ 
chp varj D;k gS\
(a)	 1
(b)	 2
(c)	 3

(d)	 4
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27.	 Two Statements S1 and S2 are given below followed 
by a Question :
S1 :	There are not more than two figures on any page of 

a 51-page book.

S2 :	There is at least one figure on every page.

Question : 
Are there more than 100 figures in that book?

	 Which one of the following is correct in respect of 
the above Statements and the Question?
(a)	 Both S1 and S2 are sufficient to answer the question, 

but neither S1 alone nor S2 alone is sufficient to 
answer the Question.

(b)	 S1 alone is sufficient to answer the Question.
(c)	 S1 and S2 together are not sufficient to answer the 

Question.
(d)	 S2 alone is sufficient to answer the Question. 

28.	 Consider the following data : 

Average marks 
in marks in 

English

Average marks 
in marks in 

Hindi
Girls 9 8
Boys 8 7

Overall average 
marks

8.8 x

	 What is the value of x in the above table? 
(a)	 7.8
(b)	 7.6
(c)	 7.4
(d)	 7.2 

29.	 A family of two generations consisting of six members 
P, Q, R, S, T and U has three males and three females. 
There are two married couples and two unmarried 
siblings. U is P's daughter and Q is R's mother-in-law. 
T is an unmarried male and S is a male. Which one 
of the following is correct? 
(a)	 R is U's husband. 

(b)	 R is S's wife. 

(c)	 S is unmarried. 

(d)	 None of the above 

27-	nks dFku S1 vkSj S2 uhps fn, x, gSa] ftuosQ mijkUr ,d 
ç'u gS %

S1%	51 i`"Bksa dh ,d iqLrd esa fdlh Hkh i`"B ij nks ls 
vfèkd js•kfp=k ugha gSaA

S2%	çR;sd i`"B ij de&ls&de ,d js•kfp=k gSA

ç'u % 
D;k bl iqLrd esa 100 ls vfèkd js•kfp=k gSa\

fuEufyf•r esa ls dkSu&lk mi;ZqÙkQ dFkuksa vkSj ç'u osQ 
fy, lgh gS\

(a)	 nksuksa dFku S1 vkSj S2 ç'u dk mÙkj nsus osQ fy, i;kZIr 
gSa fdUrq u rks vosQyk S1 vkSj u gh vosQyk S2 ç'u 
dk mÙkj nsus osQ fy, i;kZIr gSA

(b)	vosQyk S1 ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

(c)	 S1 vkSj S2 ,dlkFk ç'u dk mÙkj nsus osQ fy, i;kZIr 
ugha gSaA

(d) vosQyk S2 ç'u dk mÙkj nsus osQ fy, i;kZIr gSA

28-	fuEufyf•r vk¡dM+ksa ij fopkj dhft, %

vaxzs”kh esa ekè; 
izkIrkad

fgUnh esa ekè; 
çkIrkad

yM+fd;k¡ 9 8
yM+osQ 8 7

dqy ekè; 
çkIrkad

8-8 x

mi;ZqÙkQ lkj.kh esa x dk eku D;k gS\
(a) 7-8

(b) 7-6

(c)	 7-4

(d) 7-2

29-	,d ifjokj dh nks ihf<+;ksa osQ N% lnL;ksa P, Q, R, S, T 
vkSj U esa rhu iq#"k vkSj rhu efgyk,¡ gSaA muesa nks fookfgr 
tksM+s vkSj nks vfookfgr lgksnj gSaA U, P dh iq=kh gS vkSj 
Q] R dh lkl gSA T vfookfgr iq#"k gS vkSj S ,d iq#"k 
gSA fuEufyf•r esa ls dkSu&lk lgh gS\
(a)	R] U dk ifr gSA

(b)	R] S dh iRuh gSA

(c)	 S vfookfgr gSA

(d)	mi;ZqÙkQ esa ls dksbZ ugha
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30-	;fn fdlh fo'ks"k o"kZ esa 12 tuojh dks jfookj gS] rks 
fuEufyf•r esa ls dkSu&lk lgh gS\

(a) 15 tqykbZ dks jfookj gS ;fn o"kZ ,d vfèko"kZ gSA

(b) 15 tqykbZ dks jfookj gS ;fn o"kZ ,d vfèko"kZ ugha gSA

(c) 12 tqykbZ dks jfookj gS ;fn o"kZ ,d vfèko"kZ gSA

(d) 12 tqykbZ dks jfookj ugha gS ;fn o"kZ ,d vfèko"kZ gSA

fuEufyf•r 6 (N%) ç'uka'kksa osQ fy, funZs'k %
uhps fn, x, ik¡p ifjPNsnksa dks if<+, vkSj ifjPNsnksa osQ uhps 
vkus okys ç'uka'kksa osQ mÙkj nhft,A bu ç'uka'kksa osQ vkiosQ mÙkj 
osQoy bu ifjPNsnksa ij gh vkèkkfjr gksus pkfg,A

ifjPNsnµ1
Hkkjr esa] fiNys n'kd vFkok mlosQ vklikl] Jfed Ñf"k ls 
gV jgs gSa] ijarq os osQoy fuekZ.k rFkk xSj&iathÑr fofuekZ.k esa] 
tks fd Li"Vr% csgrj jks”kxkj volj ugha gS] tk jgs gSaA lsok,¡] 
tgk¡ Je dh ço`fÙk vfèkd mRiknudkjh gksrh gS] vfrfjÙkQ jks”kxkj 
volj mRiUu ugha dj jgh gSa ftudh ns'k dks vko';drk gSA 
Hkkjr dks vxys n'kd esa yxHkx 24 fefy;u ukSdfj;ksa dh 
vko';drk gksxhA u;k lsDVj] bZ&O;kikj] jks”kxkj osQ varj dks 
vfèkd&ls&vfèkd vkèkk gh Hkj ik,xkA osQoy os lsDVj] tks 
?kjsyw ek¡x dks c<+kok nsrs gSa] tSls LokLF; rFkk f'k{kk] 'ks"k vkèks 
Hkkx dks lqxerkiwoZd Hkj ldrs gSaA

31-	ifjPNsn esa fuEufyf•r esa ls dkSu&lk ,d lokZfèkd 
egÙoiw.kZ fufgrkFkZ gS\

(a)	 xzkeh.k ls 'kgjh {ks=k esa Jfedksa dk çolu de djus 
osQ fy, dM+s dne mBkus dh vko';drk gSA

(b)	 fuekZ.k rFkk xSj&iathÑr fofuekZ.k esa dk;Z djus dh 
fLFkfr;ksa esa lqèkkj ykuk pkfg,A

(c) lsok lsDVj csjks”kxkjh dh leL;k dks de djrk jgk gSA

(d)	cM+s iSekus ij jks”kxkj miyCèk djokus osQ fy, lkekftd 
{ks=k esa •pZ dk c<+uk vko';d gSA

ifjPNsnµ2
Hkkjr esa futrk osQ vfèkdkj ij orZeku iQksdl fMftVy ;qx 
dh dqN uohu okLrfodrkvksa ij vkèkkfjr gSA dksbZ Hkh vfèkdkj 
okLrfod vfèkdkj rHkh gksrk gS ;fn og lHkh fLFkfr;ksa esa çHkkoh 
gks vkSj lHkh osQ fy, gksA mnkgj.k osQ fy,] fdlh O;fDr dk 
vius 'kks"k.k osQ fo#¼ lqj{kk dh okLrfod miyCèkrk osQ fcuk 
Lora=k vfHkO;fÙkQ dk vfèkdkj vFkZghu gS] tks fd ;g lqfuf'pr 
djs fd mlosQ bl vfèkdkj dks xSj&ljdkjh 'kfÙkQ osQ ç;ksx ls 

30.	 If in a particular year 12th January is a Sunday, then 
which one of the following is correct? 

(a)	 15th July is a Sunday if the year is a leap year. 

(b)	 15th July is a Sunday if the year is not a leap year. 

(c)	 12th July is a Sunday if the year is a leap year. 

(d)	 12th July is not a Sunday if the year is a leap year. 

Directions for the following 6 (six) items : 
Read the following five passages and answer the items that 
follow. Your answers to these items should be based on the 
passages only. 

Passage–1 
In India, over the last decade or so, labour has been departing 
agriculture, but is only going to construction and unregistered 
manufacturing which are not markedly better jobs. Services, 
where labour tends to be most productive, are not generating 
the additional jobs the country needs. India will need  
24 million or so jobs over the next decade. The new sector, 
e-commerce, can at best close only half the jobs gap. Only 
those sectors that drive domestic demand such as health and 
education can comfortably fill the other half. 

31.	 Which one of the following is best implied in the 
passage? 

(a)	 Strong measures need to be taken to reduce the rural 
to urban migration of labour. 

(b)	 The working condition in construction and 
unregistered manufacturing needs to be improved. 

(c)	 Service sector has been reducing the problem of 
unemployment. 

(d)	 Increased social sector spending is imperative for 
large-scale job creation. 

Passage–2 
In India, the current focus on the right to privacy is based on 
some new realities of the digital age. A right is a substantive 
right only if it works in all situations, and for everyone. A right 
to free expression for an individual about her exploitation, 
for instance, is meaningless without actual availability of 
security that guarantees that private force cannot be used to 
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fu"iQy u fd;k tk losQA blfy, jkT; dh Hkwfedk vkfèkdkfjd 
Lora=k vfHkO;fÙkQ esa #dkoV iSnk djus ls cpuk ek=k gh ugha gS 
vfirq ;g Hkh lfØ; :i ls lqfuf'pr djuk gS fd xSj&ljdkjh 
i{kdkj bldks vo#¼ djus esa l{ke u gksaA

32-	mi;ZqÙkQ ifjPNsn osQ vkèkkj ij fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 fMftVy lekt esa jkT; osQ ikl ,slh laLFkk,¡ gksuh 
pkfg, tks bldh leqfpr Hkwfedk dks lqfuf'pr dj 
losaQA

2-	 jkT; dks lqfuf'pr djuk pkfg, fd xSj&ljdkjh i{kdkj 
ukxfjdksa dh futrk osQ vfèkdkj dk guu u djsaA

3-	 fMftVy vFkZO;oLFkk ukxfjdksa dh futrk dk guu u 
djus osQ fopkj ls lqlaxr ugha gSA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a) 1 vkSj 2

(b) osQoy 3

(c) 1 vkSj 3

(d) osQoy 2
ifjPNsnµ3

ty osQ lkFk ,d lcls cM+h foMEcuk ;g gS fd ;g ufn;ksa 
,oa vU; vkæZHkwfe;ksa ls vkrk gSA blosQ ckotwn mls] muls i`Fko~Q 
ekuk tkrk gSA ;|fi ty dk ç;ksx ,d lalkèku ;k oLrq osQ 
:i esa fd;k tkrk gS] yksd uhfr lnSo ;g ugha le> ikrh fd 
;g çkÑfrd ikfjfLFkfrd ra=k dk ,d fgLlk gSA vr,o ty 
ç.kkyh fuekZ.k osQ ç;kl] ty dh vkiwfrZ esa vfHko`f¼ osQ ç;kl 
gSa] u fd ikfjfLFkfrd ç.kkyh dh {kerkvksa dks e”kcwr cukus osQA

33-	mi;ZqÙkQ ifjPNsn ls fuEufyf•r esa ls dkSu&lk lokZfèkd 
rdZlaxr vkSj foosdiw.kZ fu"d"kZ fudkyk tk ldrk gS\

(a)	 jkelj le>kSrs osQ varxZr ufn;ksa ,oa vU; vkæZHkwfe;ksa 
dks lajf{kr fd;k tkuk pkfg,A

(b)	ty ç.kkfy;ksa osQ fuekZ.k dk vkèkqfudhdj.k fd;k 
tkuk pkfg, vkSj vkxs vfHko`f¼r fd;k tkuk pkfg,A 

(c)	 vkæZHkwfe;ksa dks ty osQ eqÙkQ lzksr osQ :i ls dgha 
vfèkd çcfyr djuk pkfg,A

(d)	ty dh vkiwfrZ fu%'kqYd ugha gksuh pkfg, rkfd blosQ 
nq#i;ksx vkSj vfr&mi;ksx dks jksdk tk losQA

thwart this right. The role of the State, therefore, is not just 
to abstain from preventing rightful free expression, but also 
to actively ensure that private parties are not able to block it. 

32.	 On the basis of the above passage, the following 
assumptions have been made :

1.	 State should have some institutions to ensure its  
appropriate role in a digital society.

2.	 State should ensure that private parties do not 
violate the citizens' right to privacy.

3.	 Digital economy is not compatible with the idea of 
not violating the citizens' privacy.

	 Which of the above assumptions is/are valid? 

(a)	 1 and 2 

(b)	 3 only 

(c)	 1 and 3 

(d)	 2 only 
Passage–3 

One of the biggest ironies around water is that It comes from 
rivers and other wetlands. Yet it is seen as divorced from 
them. While water is used as a resource, public policy does 
not always grasp that it is a part of the natural ecosystem. 
Efforts at engineering water systems are thus efforts at aug-
menting water supply rather than strengthening the capacities 
of ecological systems. 

33.	 Which one of the following is the most logical and 
rational Inference that can be made from the above 
passage? 

(a)	 Rivers and other wetlands should be protected under 
Ramsar Convention.

(b)	 Engineering water systems should be modernized 
and further augmented. 

(c)	 Wetlands need to be reinforced as more than just 
open sources of  water. 

(d)	 Water supply should not be free of cost so as to 
prevent its misuse or overuse. 
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ifjPNsn&4
gekjs fuos'k fu.kZ;ksa esa ls lcls egÙoiw.kZ gksrk gS laifÙk dk 
fofuèkku] vkSj nq%• dh ckr gS fd ge esa ls vfèkdka'k bl 
fu.kZ; dks mruk egÙo ugha nsrs ftruk okafNr gSA ge vius 
Hkfo"; dh iwokZuqes;rk ryk'kus osQ fy, vfMx gSaA gekjh lksp 
tksf•e&Hkjh laifÙk;ksa esa fuos'k osQ fy, vR;fèkd piy ,oa ewY; 
{k;.k osQ çfr vfHkeqf•r gSA ge fuos'k osQ vfLFkj çfriQy ,oa 
fu;a=k.k&yksi dks Hkh ialn ugha djrsA ge lksprs gSa fd gekjs 
/u dk fuf"Ø;] vuqRiknd jguk csgrj gS] ij og lqjf{kr jgsA 
ijarq ,slh dksbZ laifÙk ugha gS] tks tksf[ke&eqDr gksA ge vius 
jks”kxkj [kks ldrs gSa] gekjs ckWUM Hkqxrku ls pwd ldrs gSa] ljdkj 
fxj ldrh gS vkSj gekjs eu eqrkfcd pquh gqbZ dEifu;ksa dk 
vfLrRo lekIr gks ldrk gSA ij ge ;g ekudj thou ugha 
th ldrs fd ;s lHkh pje ?kVuk,¡ vkSj oks Hkh lHkh ,d lkFk 
?kfVr gksus ds fy;s rS;kj cSBh gSaA ge tkurs gSa fd tksf[ke ds 
;s lHkh pje Lo:i ,d lkFk izdV ugha gksaxsA

34- fuEu dFkuksa esa ls dkSu&lk ,d ifjPNsn osQ ys•d }kjk 
nh xbZ lykg dks Js"V :i ls fufgr djrk gS\

(a) vius èku dks fofHkUu çdkj dh laifÙk;ksa esa bl çdkj 
ck¡Vsa fd vkidk tksf•e U;wuhÑr gks losQA

(b) ;fn vki èku dekuk pkgrs gSa] rks tksf•e mBkus okyk 
O;ogkj vkiosQ O;fÙkQRo dk ,d vko';d ?kVd 
gksuk pkfg,A

(c) fuos'k djrs le;] ,d ,sls Hkjkslsean laifÙk&çcaèku 
laxBu@laLFkk dks •ksft, tks vkiosQ fy, vkiosQ èku 
dk Bksd çcaèku dj losQA

(d) vkidks tkuuk pkfg, fd vkiosQ èku dk fuos'k ,d 
tksf•e&Hkjk O;olk; gSA

ifjPNsn&5
;|fi vktdy mxk;h tkus okyh vfèkdrj vkuqoaf'kdr% 
:ikarfjr (th-,e-) iQlysa ,dy y{k.k osQ fy, vkuqoaf'kdr% 
vfHkjfpr gSa] Hkfo"; esa iQlyksa dk ,d ls vfèkd y{k.kksa osQ 
fy, vkuqoaf'kdr% vfHkjfpr gksuk lkekU; ekud gksxkA vr% 
Ñf"k esa tSo çkS|ksfxdh dh Hkwfedk vkSj mlosQ fu;eu dks] 
vosQys th- ,e- iQlyksa dh orZeku ih<+h osQ çlax esa ugha le>k 
tk ldrkA cfYd fofHkUu igyqvksa dks ftuesa lkekftd&vkfFkZd 
çHkko lfEefyr gSa] è;ku esa j•rs gq, ,d O;kid voyksdu 
dh vko';drk gS] rkfd udkjkRed çHkkoksa dks U;wuhÑr djrs 
gq, çkS|ksfxdh dh {kerk dk mi;ksx fd;k tk losQA mu fdLeksa 

Passage-4 
Asset allocation is the most important investment decision 
we will ever make, and sadly, most of us do not give that 
decision the importance it deserves. We are adamant about 
seeking predictability with our future. We tend to think of 
investing in risky assets as extremely volatile and value 
eroding. We also dislike fluctuating returns and the loss of 
control of investment. We think our money is best left idle, 
unproductive but safe. There is no asset that is risk-free. We 
could lose our jobs, our homes can lose value, our banks 
can go bankrupt, our bonds can default, the government 
can collapse and companies we chose fondly may cease to 
exist. But we cannot live life assuming that all these extreme 
events are waiting to happen, and all at the same time. All 
these extreme forms of risks we know will not manifest at 
the same time. 

34.	 Which one of the following statements best implies the 
suggestion given by the author of the passage? 

(a)	 Distribute your wealth across different kinds of 
assets so that your risks would be minimized. 

(b)	 Risk-taking behaviour should be a necessary 
component of your personality if you want to 
generate wealth. 

(c)	 While making investments, find a trustworthy asset 
management organization which would manage 
your wealth for you. 

(d)	 You should know that investing your money is a 
risky business. 

Passage-5 
Although most of the Genetically Modified (GM) crops 
cultivated now are genetically engineered for a single trait, 
in future, crops genetically engineered for more than one trait 
will be the norm. Thus, biotechnology's role in agriculture 
and the regulation of the same cannot be understood solely 
in the context of the current generation of GM crops. Instead, 
there is a need to take a comprehensive look, taking into 
account various aspects, including socio-economic impacts, 
so that the potential of the technology can be harnessed 
while minimizing negative impacts. Given the importance of 
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osQ fodkl esa] tks tyok;q ifjorZu osQ ç'keu vkSj vuqdwyu 
esa ennxkj gSa] tSo çkS|ksfxdh osQ egÙo osQ vkyksd esa] tyok;q 
ifjorZu dh dk;Z&;kstuk osQ ,d va'k osQ :i esa tSo çkS|ksfxdh 
dk mi;ksx u djuk] ,d fodYi ugha gks ldrkA tSo çkS|ksfxdh 
osQ ?kjsyw fu;eu dks O;kikj uhfr vkSj fofHkUu varjkZ"Vªh; lafèk;ksa 
rFkk lEesyuksa osQ varxZr nkf;Roksa ls vyx djosQ ugha ns•k 
tk ldrkA

35-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 tSo çkS|ksfxdh fu;eu ,d fodkl'khy çfØ;k gSA

2-	 tSo çkS|ksfxdh fu;eu osQ fo"k; esa uhfr fu.kZ; osQ 
fy, yksxksa dh Hkkxhnkjh dh vko';drk gSA

3-	 tSo çkS|ksfxdh fu;eu osQ fu.kZ;u esa lkekftd&vkfFkZd 
igyqvksa dks Hkh è;ku esa j•uk pkfg,A

4-	 tSo çkS|ksfxdh fu;eu esa jktuSfrd dk;Zikfydk dk 
O;kid :i esa 'kkfey gksuk ns'k dh O;kikj uhfr;ksa 
vkSj varjkZ"Vªh; nkf;Roksa dks fuiVkus dh çHkkfork esa 
lqèkkj ykrk gSA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk,¡ oSèk gSa\

(a) osQoy 1] 2 vkSj 4

(b) osQoy 1 vkSj 3

(c) osQoy 2] 3 vkSj 4

(d) 1] 2] 3 vkSj 4

36-	fuEufyf•r esa ls dkSu&lk dFku ifjPNsn osQ eeZ dks Js"B 
:i ls varfuZfgr djrk gS\

(a) th-,e- iQlyksa osQ fodkl ij orZeku foe'kZ esa lrdZrk 
fl¼kar dks egÙo ugha fn;k x;k gSA

(b) orZeku esa tyok;q ifjorZu ç'keu vkSj vuqdwyu 
fØ;kfofèk;ksa esa tSo çkS|ksfxdh dk mi;ksx ugha fd;k 
tkrk gSA

(c)	 tSo çkS|ksfxdh dh Hkwfedk th-,e- iQlyksa osQ fodkl 
osQ fy, vkt dh çkFkfedrk rd lhfer ugha gSA

(d)	tSo çkS|ksfxdh osQ udkjkRed ifj.kke Bhd <ax ls ugha 
le>s x, gSaA

biotechnology in developing varieties that can help in climate 
change mitigation and adaptation, not using biotechnology as 
a part of the climate change action plan cannot be an option. 
Domestic regulation of biotechnology cannot be viewed 
in isolation of trade policy and obligations under various 
international treaties and conventions. 

35.	 With reference to the above passage, the following 
assumptions have been made :

1.	 Biotechnology regulation is an evolving process.

2.	 Participation of people is needed in policy decisions 
regarding biotechnology regulation.

3.	 Biotechnology regulation should take into account 
socio-economic aspects in decision-making.

4.	 Wider involvement of political executive in 
biotechnology regulation improves its effective 
ness in dealing with the country's trade policies 
and international obligations. Which of the above 
assumptions are valid?

(a)	 1, 2 and 4 only

(b)	 1 and 3 only

(c)	 2, 3 and 4 only

(d)	 1, 2, 3 and 4 

36.	 Which one of the following statements best implies 
the crux of the passage?

(a)	 Precautionary principle is not given importance in 
current debate on developing GM crops.

(b)	 Biotechnology is not currently used in climate 
change mitigation and adaptation mechanisms.

(c)	 Biotechnology's role is not confined to the current 
priorities of developing GM crops.

(d)	 The negative impacts of biotechnology are not 

properly understood. 
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37-	xq.kuiQy

1 × 5 × 10 × 15 × 20 × 25 × 30 

× 35 × 40 × 45 × 50 × 55 × 60

osQ var esa fdrus 'kwU; gksaxs\

(a) 10

(b) 12

(c) 14

(d) 15

38-	ekuk fd XYZ rhu vadksa dh ,d la[;k gS] tgk¡ (X+Y+Z)] 

3 dk xq.kkad ugha gSA rc (XYZ $ YZX $ ZXY) 

foHkkT; ugha gS

(a)	 3 ls

(b) 9 ls

(c) 37 ls

(d) (X+Y + Z) ls

39- ekuk fd p] q] r vkSj s bl çdkj dh çkÑfrd la[;k,¡ gSa 

fd p & 2016 ¾ q $ 2017 ¾ r & 2018 ¾ s $ 2019 gSA 

	 fuEu esa ls dkSu&lh lcls cM+h çkÑfrd la[;k gS\

(a)	 p

(b)	 q

(c) r

(d)	 s

40-	ik¡p vadksa dh fdruh vHkkT; la[;k,¡ vadksa 1] 2] 3] 4 

vkSj 5 osQ }kjk] fcuk vadksa dh iqujko`fÙk fd, gq,] cukbZ 

tk ldrh gSa\

(a)	 'kwU;

(b)	,d

(c)	 ukS

(d)	nl

37.	 How many zeroes are there at the end of the following 
product? 

1 × 5 × 10 × 15 × 20 × 25 × 30 

× 35 × 40 × 45 × 50 × 55 × 60

(a)	 10

(b)	 12

(c)	 14 

(d)	 15

38.	 Let XYZ be a three-digit number, where (X + Y + Z) 
is not a multiple of 3. Then (XYZ + YZX + ZXY) is 
not divisible by

(a)	 3 

(b)	 9

(c)	 37

(d)	 (X + Y + Z) 

39.	 Let p, q, r and s be natural numbers such that  
p – 2016 = q + 2017 =  r – 2018 = s + 2019

	 Which one of the following is the largest natural 
number?

(a)	 p 	

(b)	 q

(c)	 r

(d)	 s 

40.	 How many five-digit prime numbers can be obtained 
by using all the digits 1, 2, 3, 4 and 5 without 
repetition of digits?

(a)	 Zero

(b)	 One

(c)	 Nine

(d)	 Ten 
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41-	,d O;fÙkQ X fdlh dk;Z dk 20%] 8 fnuksa esa iwjk dj 
ldrk gS vkSj nwljk O;fÙkQ Y mlh dk;Z dk 25»] 6 fnuksa 
esa iwjk dj ldrk gSA ;fn os nksuksa lkFk&lkFk dke djrs 
gSa] rks ml dk;Z dk 40» fdrus fnuksa esa iwjk gks tk,xk\ 
(a) 6

(b) 8

(c) 10

(d) 12

42-	,d dkj v km/hr dh vkSlr pky ls LFkku X ls LFkku 
Y rd ;k=kk djrh gS] Y ls X rd 2v km/hr dh vkSlr 
pky ls] fiQj X ls Y rd 3v km/hr dh vkSlr pky ls 
vkSj fiQj Y ls X rd 4v km/hr dh vkSlr pky ls ;k=kk 
djrh gSA rks laiw.kZ ;k=kk osQ fy, dkj dh vkSlr pky

(a)	 v km/hr ls de gSA

(b) v vkSj 2v km/hr osQ chp jgrh gS

(c) 2v vkSj 3v km/hr osQ chp jgrh gS

(d) 3v vkSj 40 km/hr osQ chp jgrh gS

43-	fuEufyf•r dFkuksa ij fopkj dhft, %

1-	 ,d oxZ vkSj ,d o`Ùk osQ çfrPNsnu osQ fcUnqvksa dh 
U;wure la[;k 2 gSA

2-	 ,d oxZ vkSj ,d o`Ùk osQ çfrPNsnu osQ fcUnqvksa dh 
vfèkdre la[;k 8 gSA

mi;ZqÙkQ esa ls dkSu&lk@ls dFku lgh gS@gSa\

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2

44- ,d O;fÙkQ dks èkkjk dh mYVh fn'kk esa tkus dh vis{kk èkkjk 
çokg dh fn'kk esa fdlh fuf'pr nwjh dks uko }kjk •sus esa 
vkèkk le; yxrk gSA vpy ikuh esa pky dk] èkkjk dh 
pky ls vuqikr D;k gS\

(a) 1 % 2

(b) 2 % 1

(c) 1 % 3

(d) 3 % 1

41.	 A person X can complete 20% of work in 8 days and 
another person Y can complete 25% of the same work 
in 6 days. If they work together, in how many days 
will 40% of the work be completed?

(a)	 6 

(b)	 8

(c)	 10 

(d)	 12

42.	 A car travels from a place X to place Y at an average 
speed of v km/hr, from Y to X at an average speed of 
2v km/hr, again from X to Y at an average speed of 
3v km/hr and again from Y to X at an average speed 
of 4v km/hr. Then the average speed of the car for the 
entire journey

(a)	 is less than v km/hr

(b)	 lies between v and 2v km/hr

(c)	 lies between 2v and 3v km/hr 

(d)	 lies between 3v and 40 km/hr

43.	 Consider the following statements : 

1.	 The minimum number of points of intersection of 
a square and a circle is 2. 

2.	 The maximum number of points of intersection of 
a square and a circle is 8.

	 Which of the above statements is/are correct?

(a)	 1 only

(b)	 2 only

(c)	 Both 1 and 2 

(d) Neither 1 nor 2

44.	 A man takes half time in rowing a certain distance 
downstream than upstream. What is the ratio of the 
speed in still water to the speed of current?

(a)	 1 : 2

(b)	 2 : 1

(c)	 1 : 3

(d)	 3 : 1 
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45-	çkÑfrd la[;kvksa osQ ,sls fdrus ;qXe gSa] ftuosQ oxks± dk 
varj 63 gS\

(a) 3

(b) 4

(c) 5

(d) 2

46-	;fn fHkUuksa 2@3] 3@4] 4@5 vkSj 5@6 osQ va'k vkSj gj nksuksa 
esa 5 tksM+ fn;k tkrk gS] rks fuEufyf•r esa ls fdl ,d 
osQ eku esa U;wure ifjorZu gksxk\

(a)	 2@3

(b)	3@4

(c)	 4@5

(d)	5@6

47-	,d vad n > 3 HkkT; gS 3 ls ysfdu 6 ls HkkT; ugha gSA 
fuEufyf•r esa ls dkSu&lk ,d 4 ls HkkT; gS\

(a)	 2n

(b) 3n

(c) 2n $ 4

(d) 3n $ 1

48-	;fn 1 yhVj ikuh dk Hkkj 1 kg gS] rks fdrus ?ku feyhehVj 
ikuh dk Hkkj 0-1 gm gksxk\

(a) 1

(b) 10

(c) 100

(d) 1000

49-	ikuh ls Hkjs gq, ,d crZu dk Hkkj 40 kg gSA ;fn ;g 
,d&frgkbZ Hkjk gqvk gS] rks bldk Hkkj 20 kg gks tkrk gSA 
•kyh crZu dk Hkkj D;k gS\

(a)	 10 kg

(b) 15 kg

(c) 20 kg

(d) 25 kg

45.	 How many pairs of natural numbers are there such 
that the difference of whose squares is 63?

(a)	 3 

(b)	 4

(c)	 5 

(d)	 2

46.	 Which one of the following will have minimum 
change in its value if 5 is added to both numerator 
and the denominator of the fractions 2/3, 3/4, 4/5 and 
5/6?

(a)	 2/3

(b)	 3/4

(c)	 4/5

(d)	 5/6

47.	 A digit n > 3 is divisible by 3 but not divisible by 6. 
Which one of the following is divisible by 4?

(a)	 2n 	

(b)	 3n

(c)	 2n + 4

(d)	 3n + 1

48.	 If 1 litre of water weighs 1 kg, then how many cubic 
millimetres of water will weigh 0.1 gm?

(a)	 1 

(b)	 10

(c)	 100

(d)	 1000 

49.	 A vessel full of water weighs 40 kg. If it is one-third 
filled, its weight becomes 20 kg. What is the weight 
of the empty vessel?

(a)	 10 kg

(b)	 15 kg

(c)	 20 kg 

(d)	 25 kg
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50- ,d esa<d fiQlyu okyh nhokjksa okys 4-5 m xgjs ,d 
lw•s dq,¡ ls ckgj vkus dh dksf'k'k djrk gSA çR;sd ckj 
esa<d 30 cm iQqndrk gS vkSj 15 cm uhps ljd tkrk gSA 
dq,¡ ls ckgj vkus osQ fy, esa<d ds fy, ”k:jh iQqndu 
dh la[;k D;k gS\

(a) 28

(b) 29

(c) 30

(d) 31

fuEufyf•r 6 (N%) ç'uka'kksa osQ fy, funZs'k %
uhps fn, x, ik¡p ifjPNsnksa dks if<+, vkSj ifjPNsnksa osQ uhps 
vkus okys ç'uka'kksa osQ mÙkj nhft,A bu ç'uka'kksa osQ vkiosQ mÙkj 
osQoy bu ifjPNsnksa ij gh vkèkkfjr gksus pkfg,A

ifjPNsn&1
vkS|ksfxd lsDVj dks feyus okys cSad ½.k esa ladqpu çkjaHk gks 
x;k gSA blesa deh xaHkhj fpark dk fo"k; gS D;ksafd ½.k dk 
çlkj fuos'k dks iquthZfor djus osQ fy, vko';d gSA leL;k 
osQ mn~xe fiNys 25 o"kks± osQ viw.kZ lqèkkjksa esa fufgr gSaA 1991 
osQ lqèkkjksa osQ mijkar cSadksa osQ fy, lekèkku fuxe dh LFkkiuk 
dk ,d laLFkkxr ifjorZu gksuk pkfg, FkkA rs”kh vkSj eanh okyh 
,d ck”kkj vFkZO;oLFkk esa cSadksa dks LFkkfir djus ,oa mUgsa 
vliQy gksus dh vuqefr gksuh pkfg,A vkt ge cSadksa dks can 
ugha dj ldrs D;ksafd mUgsa can djus dh dksbZ mfpr O;oLFkk 
ugha gSA de”kksj] gkfu esa jgus okys cSadksa dks fujarj vfèkd iw¡th 
dh vko';drk gksrh gSA

51-	mi;ZqÙkQ ifjPNsn ls fuEufyf•r esa ls dkSu&lk lokZfèkd 
rkfdZd vkSj rdZlaxr fu"d"kZ fudkyk tk ldrk gS\

(a) Hkkjrh; cSafdax O;oLFkk ns'k dh vkfFkZd fodkl esa 
enn ugha dj ik jgh gSA

(b)	1991 esa çkjaHk fd, x, vkfFkZd lqèkkjksa us vFkZO;oLFkk 
osQ visf{kr Lrj rd lqèkkj esa lgk;rk ugha dh gSA

(c) 	Hkkjr esa cSadksa dh vliQyrk ls fuiVus osQ fy, laLFkkxr 
çfØ;k ugha gSA

(d)	vkS|ksfxd lsDVj esa fons'kh fuos'k dks çksRlkgu nsuk ml 
lsDVj osQ cSad ½.k osQ Åij fuHkZjrk dk ,d vPNk 
fodYi gSA

50.	 A frog tries to come out of a dried well 4.5 m deep 
with slippery walls. Every time the frog jumps  
30 cm, slides down 15 cm. What is the number of 
jumps required for the frog to come out of the well? 

(a)	 28

(b)	 29

(c)	 30 

(d)	 31 

Directions for the following 6 (six) items :
Read the following five passages and answer the items that 
follow. Your answers to these items should be based on the 
passages only. 

Passage-1
Bank credit to the industrial sector has started shrinking. 
Its decline has been a serious concern as credit growth is 
essential to revive investment. The problem's origins lie in 
the incomplete reforms of the last 25 years. An institutional 
change that should have followed the 1991 reforms should 
have been setting up of a resolution corporation for banks. 
In a market economy with booms and busts, banks should be 
allowed to be set up and to fail. Today, we cannot shut down 
banks because there is no proper system to shut them down. 
Weak loss-making banks continue to need more capital. 

51.	 Which one of the following is the most logical and 
rational inference that can be made from the above 
passage?

(a)	 Indian banking system is not able to help the country 
in its economic growth.

(b)	 Economic reforms that started in 1991 have not 
helped in improving the economy to expected 
levels.

(c)	 India lacks the institutional mechanism to deal with 
the failure of banks.

(d)	 Encouraging the foreign investments in our 
industrial sector is a good alternative to this sector's 
dependence on banks for credit. 
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ifjPNsn&2
Hkkjr esa lkSj ÅtkZ dh fo'kky laHkkouk gSA ge lHkh ;g vuqHko 
djrs gSa fd gesa viuh ÅtkZ çkIr djus osQ fy, iQkWfly baèkuksa 
dks tykuk jksduk gksxkA ijarq dqN uohdj.kh; lalkèku okafNr 
mRiknu&Lrj dks çkIr djus osQ fy, vHkh Hkh vius ykxr oØksa 
,oa çoh.krk oØksa ls xq”kj jgs gSaA Hkkjr ljdkj 2030 rd 
mRltZu dks 33 çfr'kr de djus osQ vius y{; ls n`<+ :i ls 
çfrc¼ gS rFkk ml fn'kk esa mlus xSl ij vkèkkfjr vFkZO;oLFkk 
dks ,d l'kÙkQ çksRlkgu fn;k gS vkSj uohdj.kh; ÅtkZ esa Hkkjh 
fuos'k Hkh fd;k gS ijarq O;kikjh ?kjkus] ,sls le; esa tc rduhd 
vHkh rd rS;kj ugha gS] uohdj.kh; ÅtkZ esa Hkkjh fuos'k djus 
esa fgpfdpk jgs gSaA

52-	mi;ZqÙkQ ifjPNsn ls fuEufyf•r esa ls dkSu&lk lokZfèkd 
rkfdZd vkSj rdZlaxr fu"d"kZ fudkyk tk ldrk gS\

(a)	 mRltZu dks 33» ?kVkus dh Hkkjr dh çfrc¼rk dks 
çkIr djuk vlEHkkO; gSA

(b)	Hkkjr dks uohdj.kh; lalkèkuksa esa fuos'k djus osQ ctk; 
xSl dk vk;kr djuk pkfg;sA

(c)	 uohdj.kh; lalkèkuksa dks cgqr tYnh ck”kkj esa ykuk 
eg¡xk gks ldrk gSA

(d)	Hkkjr dks çkÑfrd xSl dh •kst esa vfèkd ç;Ru 
djuk pkfg;sA

53-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 ljdkj çk;% ,slh rduhd ij v{ke ,oa eg¡xh vkfFkZd 
lgk;rk nsrh gS tks fudV Hkfo"; osQ fy, rS;kj ugha 
gks ldrhA

2-	 2030 rd mRltZu esa 33» dVkSrh dh Hkkjr dh 
çfrc¼rk xSl&vkèkkfjr vFkZO;oLFkk ij fuHkZj gksxhA 

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2

Passage-2

	 India has tremendous potential for solar energy. We 
all realize that we have to stop burning fossil fuels to 
meet our energy needs. 

	 But certain renewable resources are still going through 
their cost curves and learning curves to get the 
required amount of output. The Indian Government 
has strongly committed to its targets of reducing 
emissions by 33 per cent by 2030, and towards this 
it has initiated a strong push towards a gas-based 
economy and has also invested heavily in renewable 
energy. However, business houses are wary of 
investing too heavily in renewable energy at a time 
when the technology is not yet ready. 

52.	 Which one of the following is the most logical and 
rational inference that can be made from the above 
passage? 

(a)	 India's commitment to reduce emissions by 33% is 
unlikely to be achieved.

(b) India should import gas rather than invest in 
renewable resources. 

(c)	 Getting renewable resources to market too soon 
may be costly. 

(d)	 India should put in more efforts in the exploration 
of natural gas.

53.	 With reference to the above passage, the following 
assumptions have been made :

1.	 Governments often provide inefficient and costly 
subsidies for technologies that may not be ready 
in the near future.

2.	 India's commitment of reducing emissions by 33% 
by 2030 shall be on the basis of gas-based economy.

	 Which of the above assumptions is/are valid?

(a)	 1 only

(b)	 2 only

(c)	 Both 1 and 2

(d)	 Neither 1 nor 2 
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ifjPNsn&3
thukse laiknu] thukse :ikarj.k ls fHkUu gSA thukse laiknu 
fo'ks"k :i ls ikni thukse osQ ml Hkkx dk irk yxkus ls 
lEcafèkr gS ftldks ifjofrZr fd;k tk losQ ftlls jksx dh 
Hks|rk de dh tk losQ ;k dqN 'kkdukf'k;ksa osQ fo#¼ çfrjksèkh 
cuk;k tk losQ ;k mRikndrk c<+kbZ tk losQA 'kksèkdrkZ thukse 
dk foPNsnu djus osQ fy, ^vkf.od oSaQph* dk mi;ksx djrs 
gSa vkSj bldh ejEer djrs gSa tks fd ikniksa esa gksus okyh og 
çkÑfrd çfØ;k gS] tks ikni jksxksa osQ vkØe.k osQ vèkhu gksus 
ij u, mRifjorZuksa dks mRiUu dj ldrh gS] tks fd ml ikni 
dks Hkfo"; esa gksus okys vkØe.kksa ls cps jgus esa l{ke cukrk gSA 
vc tcfd ç;ksx'kkykvksa esa ikni thukse dk foLrkj ls ijh{k.k 
djuk laHko gS vkSj laxr thuksa dks lqLi"V :i esa ifjofrZr 
djus dh fØ;kfofèk dk l`tu fd;k tk ldrk gS] bl fodkl 
çfØ;k esa çHkkoh :i ls rsth ykbZ tk ldrh gSA

54-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 thukse laiknu esa ,d ikni ls nwljs ij thuksa osQ 
LFkkukarj.k dh vko';drk ugha gSA

2-	 thukse laiknu osQ }kjk pquh gqbZ thuksa dks lgh :i 
esa ,d çkÑfrd çfØ;k osQ :i esa ifjofrZr fd;k 
tk ldrk gS ftlls ikSèkksa dks i;kZoj.k rÙoksa osQ lkFk 
vuqdwfyr gksus esa lgk;rk feyrh gSA 

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2

ifjPNsn&4
cgqr&ls yksx Bksl vif'k"V çcaèku ,oa LokLF; dk lacaèk Bksl 
dpjs osQ misf{kr <sj osQ ifj.kke osQ :i esa le>rs gSa tks efD•;ksa 
vkSj dhM+s&edksM+ksa dk ?kj curs gSaA fdUrq ,d nwljk i{k Hkh gS 
ftls lgh :i esa le>k ugha tkrk] fd D;k ifj.kke gksrk gS 
tc voSKkfud Bksl vif'k"V çcaèku osQ lkFk gh ty&fudkl 
O;oLFkk •jkc gksrh gS vkSj vlalkfèkr ey&ty dks ckfj'k 
ds ikuh dks ys tkus okys ukyksa esa NksM+ fn;k tkrk gSA mldk 
ifj.kke gksrk gS ukyksa dk vo#¼ gks tkuk ftuesa #dk gqvk ikuh 
Hkjk jgrk gS] ePNj iSnk gksrs gSa rFkk ty&tfur jksx iQSyrs gSaA

Passage-3
Genome editing is different from genome modification. 
Genome editing typically involves finding the part of a plant 
genome that could be changed to render it less vulnerable 
to disease, or resistant to certain herbicides, or to increase 
yields. Researchers use molecular scissors to dissect the 
genome and repair it, which is a process that occurs naturally 
when plants are under attack from diseases and can throw 
up new mutations that enable the plant to survive future 
attacks. This evolutionary process can effectively be speeded 
up now that it is possible to examine plant genomes in detail 
in laboratories, and create mechanisms through which the 
relevant genes can be altered very precisely. 

54.	 With reference to the above passage, the following 
assumptions have been made :

1.	 Genome editing does not require the transfer of 
genes from one plant to another.

2.	 Through genome editing, the chosen genes can 
be altered precisely in a manner akin to the 
natural process that helps plants to adapt to the 
environmental factors.

	 Which of the above assumptions is/are valid?

(a)	 1 only

(b)	 2 only

(c)	 Both 1 and 2

(d)	 Neither 1 nor 2 

Passage-4
Many people understand the connection between solid waste 
management and health in terms of the consequences of 
unattended heaps of dry garbage which become home for flies 
and other vermin. However, there is another aspect that is 
not well-understood, that is, what happens when unscientific 
solid waste management combines with poor drainage and 
dumping of untreated sewage into drains which are meant 
to carry storm water during rains. The result is choked 
drains which are full of stagnant water breeding mosquitoes, 
resulting in the spread of water-borne diseases. 
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55- Hkkjr osQ lanHkZ esa] fuEufyf•r esa ls dkSu&lk dFku ifjPNsn 

osQ Økafrd lans'k dk lokZsÙke çs"k.k djrk gS\

(a)	 Hkkjr esa ty&fudklh ra=k ckfj'k osQ ikuh ,oa ey&ty 

osQ fy, vyx&vyx ugha gSaA

(b)	'kgjh LFkkuh; fudk;ksa osQ ikl vif'k"V çcaèku dh 

leL;kvksa ls fuiVus osQ fy, i;kZIr lalkèku ,oa foèkk;h 

'kfÙkQ;k¡ ugha gSaA

(c) Bksl vif'k"V çcaèku dks ty&fudklh vkSj ey&ty 

fudklh ra=k osQ vuqj{k.k osQ lkFk ,dhÑr fd;k tkuk 

pkfg,A

(d)	gekjh uxjikfydkvksa }kjk Bksl vif'k"V ,oa ey&ty 

ç.kkfy;ksa dk •jkc çcaèku gekjs 'kgjksa esa is; ty dh 

deh osQ fy, ftEesnkj gSA

ifjPNsn&5

lafoèkku osQ Hkkx III esa] tks tulkèkkj.k dks dqN ekSfyd 

vfèkdkjksa osQ çfr vk'oLr djrk gS] vuqPNsn 25 mn~?kks"k.kk 

djrk gS fd ¶lHkh O;fÙkQ;ksa dks var%dj.k dh Lora=krk dk vkSj 

èkeZ osQ vckèk :i ls ekuus] vkpj.k djus vkSj çpkj djus dk 

leku gd gksxk¸] ysfdu ftl ckr ij yksx çk;% è;ku ugha 

nsrs gSa og gS bl mn~?kks"k.kk dk bu 'kCnksa okyk milxZ] ¶yksd 

O;oLFkk] lnkpkj] LokLF; rFkk bl Hkkx osQ vU; micaèkksa osQ 

vèkhu jgrs gq,¸A ;g milxZ fdlh leqnk; osQ èkkfeZd vkpj.k 

osQ oSèkkfud laj{k.k dh iwoZ 'krZs fuèkkZfjr djrk gSA vuqPNsn 

25 dh bl çkjafHkd 'krZ osQ vafre 'kCn oLrqr% ,d vèkhuLFk 

•.M dh lajpuk djrs gSa ftlosQ vuqlkj Hkkx III esa of.kZr 

vU; ekSfyd vfèkdkjksa dks èkkfeZd Lora=krk osQ vfèkdkj osQ 

Åij çèkkurk feyrh gSA mu vU; ekSfyd vfèkdkjksa esa fofèk 

osQ le{k lerk dk vfèkdkj vkSj Lo;a fofèk;ksa osQ Hkh leku 

laj{k.k dk vfèkdkj gSµftudk çkjaHk esa gh vk'oklu gS rFkk 

ckn osQ vuqPNsnksa esa bl vFkZ osQ lkFk foLrkj gS fd] vU; ckrksa 

osQ lkFk] jkT; fdlh Hkh O;fÙkQ ;k O;fÙkQ;ksa osQ lewg dks osQoy 

èkeZ osQ vkèkkj ij fofèk;ksa osQ leku laj{k.k ls oafpr ugha djsxkA

55.	 In the context of India, which one of the following 
statements best reflects the critical message of the 
passage?

(a)	 In India, the drainage networks are not separate for 
sewerage and storm water.

(b)	 Urban local bodies do not have enough resources 
and legislative authority to deal with the problems  
of waste management.

(c)	 Solid waste management should be integrated 
with the maintenance of drainage and sewerage 
networks.

(d)	 Bad management of solid waste and sewerage 
systems by our municipalities is the reason for 
drinking water shortages in our cities. 

Passage-5
In Part III of the Constitution, which assures people certain 
fundamental rights, Article 25 proclaims that "all persons 
are equally entitled to freedom of conscience and the right 
freely to profess, practise and propagate religion". What 
people fail to notice is that this proclamation is prefixed 
with the words "subject to public order, morality, health and 
to the other provisions of this Part", which set conditions 
precedent for the legal protection of religious practices of 
any community. The closing words of this prefatory rider 
in Article 25 virtually constitute a subordination clause 
placing other fundamental rights mentioned in Part III over 
and above the right to religious freedom. Among those other 
fundamental rights is the right to equality before law and 
equal protection of laws-assured at the outset and elaborated 
in later articles to mean, inter alia, that the State shall not deny 
equal protection of laws to any person or group of persons 
on the basis of religion alone. 
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56-	mi;ZqÙkQ ifjPNsn dk lokZfèkd rkfdZd fu"d"kZ D;k gS\

(a)	 jkT; ukxfjdksa osQ èkkfeZd ekeyksa esa gLr{ksi ugha djsxkA

(b)	lafoèkku esa nh xbZ èkkfeZd Lora=krk esa jkT; gLr{ksi 
dj ldrk gSA

(c)	 ukxfjdksa dh èkkfeZd Lora=krk ekSfyd vfèkdkjksa osQ 
nk;js esa ugha vkrhA

(d)	 fdlh Hkh leqnk; osQ èkkfeZd vkpj.k jkT; osQ dkuwuksa 
ls çfrjf{kr gSaA

57-	'kCn 'DELHI' osQ lHkh v{kjksa dk ç;ksx djrs gq, fdrus 
fofHkUu 5&v{kjh 'kCn (ftudk dksbZ vFkZ gks ;k u gks) 
cuk, tk ldrs gSa] tcfd çR;sd 'kCn D osQ lkFk 'kq: 
gksrk gS vkSj I osQ lkFk lekIr gksrk gS\

(a) 24

(b) 18

(c) 12

(d) 6

58-	,d cksry esa æo A dh 20 yhVj ek=kk gSA blesa ls æo 
A dh 4 yhVj ek=kk ckgj fudky nh tkrh gS vkSj æo B 
dh mruh gh ek=kk okil Mky nh tkrh gSA fiQj ls feJ.k 
dh 4 yhVj ek=kk ckgj fudky nh tkrh gS vkSj æo B dh 
mruh gh ek=kk okil Mky nh tkrh gSA vafre feJ.k esa 
æo A dh ek=kk dk nzo B dh ek=kk ls vuqikr D;k gS\

(a) 4 % 1

(b) 5 % 1

(c) 16 % 9

(d) 17 % 8

59-	,d cYysckt dk mldh 50oha ikjh osQ ckn vkSlr Ldksj 
46-4 FkkA 60oha ikjh osQ ckn] mldk vkSlr Ldksj 2-6 c<+ 
tkrk gSA fiNyh nl ikfj;ksa esa mldk vkSlr Ldksj D;k Fkk\

(a) 122

(b) 91

(c) 62

(d) 49

56.	 What is the most logical inference from the above 
passage? 

(a)	 State shall not interfere with the religious affairs of 
the citizens. 

(b)	 Religious freedom under the  Constitution is open 
to State intervention. 

(c)	 Religious freedom of the citizens is not covered 
under fundamental rights.

(d)	 Religious practices of any community are immune 
to State laws. 

57.	 How many different 5-letter words (with or without 
meaning) can be constructed using all the letters of 
the word DELHI' so that each word has to start with 
D and end with I?

(a)	 24 

(b)	 18

(c)	 12

(d)	 6

58.	 A bottle contains 20 litres of liquid A. 4 litres of liquid 
A is taken out of it and replaced by same quantity of 
liquid B. Again 4 litres of the mixture is taken out 
and replaced by same quantity of liquid B. What is 
the ratio of quantity of liquid A to that of liquid B in 
the final mixture? 

(a)	 4 : 1

(b)	 5 : 1

(c)	 16 : 9

(d)	 17 : 8 

59.	 The average score of a batsman after his 50th innings 
was 46.4. After 60th innings, his average score 
increases by 2.6. What was his average score in the 
last ten innings? 

(a)	 122 

(b)	 91 

(c)	 62

(d)	 49 
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60-	pkoy osQ çfr fdyks ewY; esa 25» dh o`f¼ osQ 
ifj.kkeLo:i] ,d O;fÙkQ ` 1]200 esa 6 fdyks de pkoy 
•jhn ikrk gSA pkoy dk çfr fdyks çkjafHkd ewY; D;k Fkk\

(a) ` 30

(b) ` 40

(c) ` 50

(d) ` 60

61-	vfèkdre yEckbZ x D;k gksxh] ftlls fd 31/2 m vkSj 	
83/4 m, x osQ iw.kk±d xq.kt gksa\

(a)	 11/2 m 

(b)	 11/3 m 

(c)	 11/4 m 

(d)	 13/4 m 

62-	fuEu vk¡dM+ksa ij fopkj dhft, %

o"kZ tUenj e`R;q nj
1911&1921 48-1 35-5

1921&1931 46-4 36-3

1931&1941 45-2 31-2

1941&1951 39-9 27-4

1951&1961 41-7 22-8

1961&1971 41-1 18-9

1971&1981 37-1 14-8

fdl le;kofèk esa çkÑfrd fodkl nj vfèkdre Fkh\

(a) 1911&1921

(b) 1941&1951

(c) 1961&1971

(d) 1971&1981

63-	vkorZ n'keyo fu:i.k 1-272727--- fdlds leku gS\

(a) 13@11

(b) 14@11

(c) 127@99

(d) 137@99

60.	 As a result of 25% hike in the price of rice per kg, a 
person is able to purchase 6 kg less rice for `1,200. 
What was the original price of rice per kg? 
(a)	 `30 

(b)	 `40 

(c)	 `50

(d)	 `60 

61.	 What is the greatest length x such that 31/2 m and  
83/4 m are integral multiples of x?
(a)	 11/2 m 

(b)	 11/3 m 

(c)	 11/4 m 

(d)	 13/4 m 

62.	 Consider the following data : 

Year Birth rate Death rate 
1911-1921 48.1 35.5 
1921-1931 46.4 36.3 
1931-1941 45.2 31.2
1941-1951 39.9 27.4 
1951–1961 41.7 22.8 
1961-1971 41.1 18.9 
1971-1981 37.1 14.8 

	 For which period was the natural growth rate 
maximum? 
(a)	 1911-1921 

(b)	 1941-1951 

(c)	 1961-1971 

(d)	 1971-1981 

63.	 The recurring decimal representation 1.272727... is 
equivalent to 

(a)	 13/11 

(b)	 14/11

(c)	 127/99 

(d)	 137/99 
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64-	pkj vadksa dh lcls NksVh la[;k dkSu&lh gS ftls 3] 4] 
5 vkSj 6 ls foHkkftr djus ij çR;sd ckj 2 'ks"k cprk 
gS\

(a) 1012

(b) 1022

(c) 1122

(d) 1222

65-	,d 'kgj dh o;Ld lef"V esa 40» iq#"k vkSj 30» 
efgyk,¡ fookfgr gSaA fookfgr o;Ld lef"V dk çfr'kr 
D;k gS] ;fn dksbZ Hkh iq#"k ,d ls vfèkd efgyk ls fookg 
ugha djrk gS vkSj dksbZ Hkh efgyk ,d ls vfèkd iq#"k 
ls fookg ugha djrh gS_ vkSj buesa dksbZ foèkok vkSj foèkqj 
ugha gS\

(a)	 331/7% 

(b)	 34% 

(c)	 342/7% 

(d)	 35% 

66-	tc 51 × 27 × 35 × 62 × 75 dks 100 ls foHkkftr fd;k 
tkrk gS] rks 'ks"kiQy D;k gS\

(a)	 50
(b)	 25
(c)	 5

(d)	 1

67-	` 2,500 dh ,d èkujkf'k dks X, Y vkSj Z esa 1/2  : 
3/4 : 

5/6 osQ vuqikr esa forfjr fd;k tkrk gSA vfèkdre va'k 
vkSj U;wure va'k osQ chp varj D;k gS\

(a)	 ` 300
(b)	 ` 350
(c)	 ` 400
(d) 	` 450

68-	  osQ fdl eku osQ fy, la[;k (10n +1) esa vadksa dk ;ksx 
2 gS\

(a)	 osQoy n ¾ 0 osQ fy,

(b)	 fdlh iw.kZ la[;k n osQ fy,

(c)	 osQoy fdlh èkukRed iw.kkZad n osQ fy,

(d)	 fdlh okLrfod la[;k n osQ fy,

64.	 What is the least four-digit number when divided by 
3, 4, 5 and 6 leaves a remainder 2 in each case? 

(a)	 1012

(b)	 1022 

(c)	 1122 

(d)	 1222 

65.	 In adult population of a city, 40% men and 30% 
women are married. What is the percentage of married 
adult population if no man marries more than one 
woman and no woman marries more than one man; 
and there are no widows and widowers? 

(a)	 331/7% 

(b)	 34% 

(c)	 342/7% 

(d)	 35% 

66.	 What is the remainder when 51 × 27 × 35  × 62  × 75 
is divided by 100? 

(a)	 50

(b)	 25

(c)	 5

(d)	 1

67.	 A sum of ` 2,500 is distributed among X, Y and Z in 
the ratio 1/2  : 

3/4 : 
5/6. What is the difference between 

the maximum share and the minimum share? 

(a)	 `300 

(b)	 `350 

(c)	 `400 

(d)	 `450 

68.	 For what value of n, the sum of digits in the number 
(10n + 1) is 2? 

(a)	 For n = 0 only 

(b)	 For any whole number n 

(c)	 For any positive integer n only 

(d)	 For any real number n 
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69-	,d d{kk esa rhu lewg A] B vkSj C gSA ;fn lewg A ls 
,d fo|kFkhZ vkSj lewg B ls nks fo|kfFkZ;ksa osQ lewg C esa 
LFkkukarfjr fd;k tkrk gS rks d{kk ds fo|kfFkZ;ksa osQ vkSlr 
Hkkj dk D;k gksxk\

(a)	 ;g c<+ tk,xkA

(b)	;g ?kV tk,xkA

(c)	 ;g ogh jgsxkA

(d)	vi;kZIr vk¡dM+ksa osQ dkj.k dksbZ fu"d"kZ ugha fudkyk 
tk ldrk gSA

70-	ewY;oxks± ̀  50] ̀  100] ̀  200] ̀  500 vkSj ̀  2]000 osQ lkFk] 
,d le; esa de&ls&de rhu ewY;oxks± dks ysrs gq,] fdruh 
fofHkUu èkujkf'k;k¡ cukbZ tk ldrh gSa\

(a) 16

(b) 15

(c) 14

(d) 10

fuEufyf•r 6 (N%) ç'uka'kksa osQ fy, funZs'k %
uhps fn, x, ik¡p ifjPNsnksa dks if<+, vkSj ifjPNsnksa osQ uhps 
vkus okys ç'uka'kksa osQ mÙkj nhft,A bu ç'uka'kksa osQ vkiosQ mÙkj 
osQoy bu ifjPNsnksa ij gh vkèkkfjr gksus pkfg,A

ifjPNsn&1
LiSfu'k tgkt 16oha 'krkCnh osQ mÙkjkèkZ esa igyh ckj nf{k.k 
vesfjdk ls vkyw dan ;wjksi yk,] ftlls fd çkjafHkd 19oha 
'krkCnh esa ;g fo'ks"kdj BaMs vk;jySaM dh o"kkZ ls rj Hkwfe esa 
èkkU; iQlyksa dk fo'oluh; iwfrZdj gks x;kA vk;jySaM&oklh 
'kh?kz gh yxHkx iw.kZr% çèkku •k| osQ :i esa vkyw ij fuHkZj gks 
x, vkSj os eq[; :i ls mldh ,d c`gnkdkj fdLe] ^yEij* 
vkyw dks mxkus yxs] ftldh vkuqoaf'kd Hkaxqjrk dks ,d dod 
^iQkbVksIFkksjk bUiQsLVsUl (Phytophthora infestans)* us vkus 
okys le; esa fueZerk ls vuko`r dj fn;kA 1845 esa bl ?kkrd 
dod osQ chtk.kqvksa us lewps ns'k esa iQSyuk vkjEHk dj fn;k 
vkSj vius iFk esa vkus okys yxHkx lHkh yEijksa dks u"V dj 
fn;kA blosQ ifj.kkeLo:i gq, vdky us dbZ fefy;u yksxksa 
dks ekj fn;k ;k foLFkkfir fd;kA

69.	 In a class, there are three groups A, B and C. If one 

student from group A and two students from group 

B are shifted to group C, then what happens to the 

average weight of the students of the class? 

(a)	 It increases. 

(b)	 It decreases. 

(c)	 It remains the same. 

(d)	 No conclusion can be drawn due to insufficient data. 

70.	 How many different sums can be formed with the 

denominations `50, `100, `200, `500 and `2,000 

taking at least three denominations at a time? 

(a)	 16

(b)	 15

(c)	 14

(d)	 10

Directions for the following 6 (six) items : 

Read the following five passages and answer the items that 

follow. Your answers to these items should be based on the 

passages only. 

Passage-1 
Spanish ships in the late 16th century first brought the potato 

tuber from South America to Europe whereby in the early 

19th century, it had become a reliable backup to cereal crops, 

particularly in the cold, rain-soaked soils of Ireland. The Irish 

were soon almost wholly dependent on the potato as their 

staple food. And they were planting primarily one prodigious 

variety, the 'Lumper' potato, whose genetic frailty would be 

cruelly exposed by the fungus 'Phytophthora infestans'. In 

1845, spores of the deadly fungus began spreading across 

the country, destroying nearly all the Lumpers in its path. 

The resulting famine killed ar displaced millions. 



29
irk% 631] Hkw&ry] eq[kthZ uxj] fnYyh&110009 
 7428085757/58   sanskritiiasedu@gmail.com 

71-	fuEufyf•r esa ls dkSu&lk dFku ifjPNsn osQ Økafrd lans'k 
dk lokZsÙke çs"k.k djrk gS\

(a)	 fdlh fons'kh ikni dks fdlh ns'k esa lekfo"V djus 
osQ fy, ml ns'k dh Hkwfe vkSj tyok;q n'kk,¡ mi;qÙkQ 
gksuh pkfg,A

(b)	 fdlh ns'k osQ çèkku •k| osQ :i esa vkyw tSlh dan 
okyh iQlysa] èkkU; iQlyksa dk LFkku ugha ys ldrhaA

(c)	 ikniksa osQ dqN dod laØe.kksa dks cM+s {ks=kksa esa iQSyus 
ls ckfèkr fd;k ;k jksdk ugha tk ldrkA

(d)	 fdlh lekaxh •k| lzksr ij fuHkZj gksuk okaNuh; ugha 
gSA

ifjPNsn&2
Hkkjr lcls rhoz fodflr gksus okyh oSf'od vFkZO;oLFkkvksa esa 
ls gS] fiQj Hkh ;g fo'o esa lcls vfèkd dqiksf"kr cPpksa dk 
?kj gSA ,sls Hkh {ks=k gSa tgk¡ dqiks"k.k viokn ugha vfirq lkekU; 
gSA vkSj lkjs ns'k esa] gj o"kZ viuk ikapok¡ tUefnu eukus ls 
iwoZ ejus okys 1-3 fefy;u cPpksa esa ls yxHkx vkèks cPpksa 
dh e`R;q dk dkj.k dqiks"k.k gSA os cPps tks thfor jg tkrs 
gSa] LFkk;h :i ls ml {kfr ls xzflr jgrs gSa tks muosQ 'kjhj 
vkSj eu esa mi;qDr •k|ksa ,oa iks"kdksa osQ i;kZIr ek=kk esa u 
feyus ls gks pqdh gksrh gSA 5 o"kZ ls de vk;q osQ yxHkx 44 
fefy;u cPps vfodflr gSaA blls mudks fo|ky; esa lh•us 
vkSj o;Ld gksus ij thfodk dekus esa dfBukbZ gksrh gSA mudh 
thoudkyhu miktZu {kerk muosQ LoLFk led{kksa ls yxHkx 
,d&pkSFkkbZ de gksrh gSA

72-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r esa ls dkSu&lk@
ls lokZfèkd rdZlaxr ,oa O;kogkfjd fufgrkFkZ gS@gSa\

1-	 Hkkjr dh lkoZtfud forj.k ç.kkyh dks osQUæ ljdkj 
}kjk ekWuhVj fd;k tkuk pkfg,A

2-	 ckfydkvksa dks fookg ,oa çFke xHkZ foyfEcr djus 
osQ fy, çksRlkfgr djuk pkfg,A

3-	 tUe osQ rqjar ckn uotkr dks Lruiku djkus gsrq ekrkvksa 
dks çksRlkfgr djuk pkfg,A

4-	 lHkh osQ fy, lqjf{kr is; ty ,oa mi;qÙkQ LoPNrk 
lqfoèkkvksa dh vkiwfrZ lqfuf'pr djuh pkfg,A

5-	 çkfèkdkfj;ksa dks ;FkkfuèkkZfjr Vhdkdj.k lqfuf'pr djuk 
pkfg,A

71.	 Which one of the following statements best reflects 
the critical message of the passage?

(a)	 For introducing any foreign plant into a country, the 
soil and climate conditions of that country should 
be suitable. 

(b)	 As a staple food of a country, tuber crops like potato 
cannot replace cereal crops.

(c)	 Some of the fungal infections of plants cannot be 
prevented or stopped from spreading across large 
areas.

(d)	 Relying on a homogeneous food source is not 
desirable. 

Passage-2
India is at once among the fastest growing global economies 
and home to the largest number of malnourished children in 
the world. There are regions where malnutrition is not the 
exception but the norm. And across the country, malnutrition 
is the cause of death for roughly half the 1.3 million children 
who die before their fifth birthday each year. Even those 
children who survive suffer permanently from the damage 
that has already been done to their bodies and minds from 
not getting enough of the right foods and nutrients. Around 
44 million children under 5 are stunted. That makes it harder 
for them to learn in school and subsequently earn a living as 
adults. Their lifetime earnings potential is almost a quarter 
less than that of their healthy peers. 

72.	 With reference to the above passage, which of the 
following is/are the most rational and practical 
implication/implications?

1.	 India's Public Distribution System should be 
monitored by the Union Government.

2.	 Girls should be encouraged to delay marriage and 
first pregnancy.

3.	 Mothers should be encouraged to breastfeed their 
children immediately after birth.

4.	 The supply of safe drinking water and proper 
sanitation facilities to all should be ensured.

5.	 Authorities should ensure the vaccination as 
prescribed.
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uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,A

(a)	 1] 2] 3 vkSj 4

(b)	2] 3] 4 vkSj 5

(c)	 osQoy 1

(d) osQoy 3 vkSj 5

ifjPNsn&3
nygu dh çtkfr ^iwlk vjgj 16* dks iatkc] gfj;k.kk vkSj 
mÙkj çns'k osQ èkku mxkus okys {ks=kksa vkSj varr% lEiw.kZ Hkkjr 
esa mxk, tk ldus dh laHkkouk gSA mldh mRikndrk (yxHkx 
2000 fd- xzk-@gsDVs;j) miyCèk çtkfr;ksa dh rqyuk esa egÙoiw.kZ 
:i ls vfèkd gksxh vkSj pw¡fd mlosQ vkdkj esa ,d:irk gksxh] 
mldh dVkbZ e'khuksa ls Hkh laHko gksxh ,oa mÙkjh Hkkjr osQ mu 
Ñ"kdksa] tks vktdy bl rduhd dk ç;ksx èkku osQ fy, djrs 
gSa] osQ fy, ,d vkd"kZd fo'ks"krk gksxhA lcls egÙoiw.kZ ;g 
gS fd vjgj dk iqvky] èkku osQ iqvky osQ foijhr] gjk gksrk 
gS vkSj mls e`nk esa okil tksrk tk ldrk gSA èkku osQ iqvky esa 
ijs'kkuh ;g gS fd lsy•M+h (silica) dh ek=kk vfèkd gksrh gS 
tks vklkuh ls mldk vi?kVu ugha gksus nsrhA vjgj esa dackbu 
dVkbZ osQ ckn Hkh Ñ"kd dks cps gq, iqvky dks NksVs VqdM+ksa esa 
dkVus osQ fy, osQoy jksVksosVj pykus dh vko';drk gksrh gS 
ftUgsa okil tksrk tk ldrk gS vkSj tks cgqr rsth ls vi?kfVr 
gks tkrs gSaA ;g dk;Z èkku osQ cps gq, MaByksa osQ lkFk dfBu 
gS ftUgsa vklkuh ls fudkyk ;k okil ugha tksrk tk ldrkA 
blfy,] Ñ"kd lkèkkj.kr% bls tykus dk vklku jkLrk pqurs gSaA

73-	fuEufyf•r esa ls dkSu&ls ,sls lokZfèkd rdZlaxr fu"d"kZ 
gSa tks mi;ZqÙkQ ifjPNsn ls fudkys tk ldrs gSa\

1-	 èkku dh rqyuk esa nygu mxkus ls Ñ"kdksa dh vk; 
vfèkd gksxhA

2-	 nygu mxkuk] èkku mxkus dh rqyuk esa de çnw"k.k 
mRiUu djrk gSA

3-	 nygu osQ iqvky dk ç;ksx e`nk dh xq.koÙkk esa lqèkkj 
ykus osQ fy, fd;k tk ldrk gSA

4-	 mÙkjh Hkkjr dh Ñf"k osQ lanHkZ esa] èkku osQ iqvky dh 
dksbZ mi;ksfxrk ugha gSA

5-	 e'khuhÑr •srh Bw¡B tykus dk çeq• dkjd gSA

	 Select the correct answer using the code given below

(a)	 1, 2, 3 and 4

(b)	 2, 3, 4 and 5

(c)	 1 only

(d)	 3 and 5 only 

Passage-3 
The pulse variety 'Pusa Arhar 16' has the potential to be 
grown in the paddy-growing regions of Punjab, Haryana and 
Uttar Pradesh and eventually in all of India. Its yield (about 
2000 kg/hectare) will be significantly greater than those of 
the existing varieties and because its size will be uniform, 
it will be amenable to mechanical harvesting, an attractive 
feature for farmers in northern India who currently use this 
technology for paddy. Most important, Arhar straw, unlike 
paddy straw, is green and can be ploughed back into the soil. 
In paddy straw, the problem is the high silica content, which 
does not allow for easy decomposition. In the case of Arhar, 
the farmer, even after combine harvesting, just needs to run 
a rotovator to cut the leftover straw into pieces, which can 
be ploughed back and will decompose very fast. All this 
is difficult with leftover paddy stalks that cannot be easily 
salvaged or ploughed back. Farmers, therefore, choose the 
easiest option of simply burning it. 

73.	 Which of the following are the most rational 
inferences that can be made from the passage?

1.	 Farmers' income will be higher with pulse 
cultivation than with paddy 'cultivation.

2.	 Pulse cultivation causes less pollution as compared 
to paddy cultivation.

3.	 Pulse straw can be used to improve soil quality.

4	 In the context of northern Indian agriculture, paddy 
straw has no usefulness.

5.	 Mechanized agriculture is the main cause for stubble 
burning. 
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uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,A

(a)	 2] 3 vkSj 5

(b)	1] 4 vkSj 5

(c)	 osQoy 2 vkSj 3

(d)	osQoy 1 vkSj 4

ifjPNsn&4

Hkkjr esa] çkfèkdkjh ekulwu ½rq esa tyk'k;ksa esa vfèkdre ty 

lap; djus dh dksf'k'k djrs gSa] ftls xehZ osQ eghuksa esa flapkbZ 

,oa fo|qr~ mRiknu osQ fy, ç;ksx esa yk;k tkrk gSA ekulwu 

½rq vkus osQ le; tyk'k; esa ty dks ,d fuf'pr Lrj ls 

uhps cuk, j•uk ,d varjkZ"Vªh; :i esa Lohdk;Z çFkk gSA ,slk 

blfy, gS D;ksafd tc ekulwu dh o"kkZ gksrh gS rks vfrjsd o"kkZ 

ty osQ lap;u osQ fy, txg gks rFkk ty dks fu;af=kr :i 

esa NksM+k Hkh tk losQA ijarq çkfèkdkjh ekulwu osQ lekIr gksus ls 

igys gh tyk'k;ksa esa vfèkd&ls&vfèkd ty lap; dj ysrs gSa] 

ftlls vfèkd fo|qr~ mRiknu ,oa flapkbZ lqfuf'pr dh tk losQA

74-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 

xbZ gSa %

1-	 tyk'k;ksa esa vfèkdre ty lap;u esa gksus okys Hkkjh 

tksf•e] ty'kfÙkQ ifj;kstukvksa ij gekjh vR;fèkd 

fuHkZjrk osQ dkj.k gSA

2-	 ck¡èkksa dh laxzg.k {kerk dk ekulwu ½rq osQ iwoZ vFkok 

nkSjku iw.kZ mi;ksx ugha fd;k tkuk pkfg,A

3- Hkkjr esa ck<+ fu;a=k.k osQ fy, ck¡èkksa dh Hkwfedk dks de 

djosQ vk¡dk x;k gSA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a)	 osQoy 1 vkSj 2

(b)	osQoy 2

(c)	 osQoy 3

(d)	1] 2 vkSj 3

	 Select the correct answer using the code given below.

(a)	 2, 3 and 5

(b)	 1, 4 and 5

(c)	 2 and 3 only

(d)	 1 and 4 only 

Passage-4
In India, authorities always look to store the maximum 
amount of water in reservoirs during the monsoon season, 
which is then used for irrigation and generation of electricity 
during the summer months. It is an internationally accepted 
practice that the water level of a reservoir should be kept 
below a certain level before the onset of monsoon season. 
This is so that when monsoon rains come, there is space 
to store the excess rainwater and also so that water can be 
released in a regulated manner. But the authorities store the 
maximum amount of water in reservoirs even before the close 
of the monsoon, only to ensure greater electricity generation 
and irrigation. 

74.	 With reference to the above passage, the following 
assumptions have been made :

1.	 High risks involved in holding maximum water 
in reservoirs are due to our over-dependence on  
hydropower projects.

2.	 Storage capacity of dams should not be fully used 
before or during monsoon season.

3.	 Role of dams in flood control is underestimated in 
India.

	 Which of the above assumptions is/are valid?

(a)	 1 and 2 only

(b)	 2 only

(c)	 3 only

(d)	 1, 2 and 3 
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ifjPNsn&5
Hkkjr esa vkfFkZd mnkjhdj.k dk Lo:i vfèkdrj ljdkj dh 
vkfFkZd leL;kvksa ls r; gqvk Fkk u fd turk dh vkfFkZd 
çkFkfedrkvksa ls vFkok nh?kZdkyhu fodkl osQ mís';ksa lsA vr%] 
ladYiuk ,oa :ijs•k dh lhek,¡ Fkha tks ckn esa vuqHko ls iq"V 
gqbZaA vkfFkZd mnkjhdj.k osQ çkjaHk ls jks”kxkj&foghu o`f¼] lrr 
xjhch vkSj c<+rh vlekurk leL;kvksa osQ :i esa mHkjh gSaA vkSj 
bu lHkh o"kks± osQ ckn esa] pkj ekSu ladV vFkZO;oLFkk osQ lEeq• 
•M+s gq, gSa_ Ñf"k] vèkkslajpuk] m|ksxhdj.k ,oa f'k{kk_ tks ns'k 
osQ Hkkoh ifjn`'; esa caèkudkjd gSaA ;fn vkfFkZd o`f¼ dks cuk, 
j•uk gS vkSj mls lkFkZd fodkl esa :ikarfjr djuk gS] rks bu 
leL;kvksa dk fujkdj.k gksuk gh pkfg,A

75-	bl ifjPNsn ls fuEufyf•r esa ls dkSu&lk@ls lokZfèkd 
rdZlaxr vkSj rkfdZd fu"d"kZ fudkyk@ fudkys tk ldrk@
ldrs gS@gSa\

1-	 fodkl dh ryk'k esa ;g vfuok;Z gS fd jkT; dh 
vkfFkZd Hkwfedk ij iqufoZpkj fd;k tk, ,oa mls 
iquiZfjHkkf"kr fd;k tk,A

2-	 Hkkjr us vius lkekftd {ks=kksa esa u rks uhfr;ksa dk çHkkoh 
fu"iknu fd;k vkSj u gh muesa i;kZIr fuos'k fd;kA

uhps fn, x, dwV dk ç;ksx dj lgh mÙkj pqfu,A

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2

76-	mi;ZqÙkQ ifjPNsn osQ lanHkZ esa] fuEufyf•r iwoZèkkj.kk,¡ cukbZ 
xbZ gSa %

1-	 Hkkjr dh vFkZO;oLFkk dks oSf'od vFkZO;oLFkk ls 
vR;fèkd lesfdr djus dh vko';drk gS rkfd 
jks”kxkj dk cM+h la[;k esa l`tu fd;k tk losQ rFkk 
blosQ o`f¼ laosx dks cuk, j•k tk losQA

2-	 vkfFkZd mnkjhdj.k ls c`gr~ vkfFkZd o`f¼ gksxh ftlls 
nh?kZdky esa xjhch ?kVsxh vkSj jks”kxkj dk i;kZIr l`tu 
gksxkA

mi;ZqÙkQ esa ls dkSu&lh iwoZèkkj.kk@iwoZèkkj.kk,¡ oSèk gS@gSa\

(a)	 osQoy 1

(b)	osQoy 2

(c)	 1 vkSj 2 nksuksa

(d)	u rks 1] u gh 2

Passage-5 
Economic liberalization in India was shaped largely by the 
economic problems of the government than by the economic 
priorities of the people or by the long-term development 
objectives. Thus, there were limitations in conception and 
design which have been subsequently validated by experi-
ence. Jobless growth, persistent poverty and rising inequality 
have mounted as problems since economic liberalization 
began. And all these years later, four quiet crises confront 
the economy; agriculture, infrastructure, industrialization and 
education as constraints on the country's future prospects. 
These problems must be resolved if economic growth has to 
be sustained and transformed into meaningful development. 

75.	 Which of the following is/are the most rational and 
logical inference/inferences that can be made from 
the passage? 

1.	 It is essential to rethink and redefine the economic 
role of the State in the quest for development.

2.	 India has not made effective implementation of 
its policies in social sectors nor made sufficient 
investments in them. 

	 Select the correct answer using the code given below. 

(a)	 1 only 

(b)	 2 only 

(c)	 Both 1 and 2 

(d)	 Neither 1 nor 2 

76.	 With reference to the above passage, the following 
assumptions have been made : 

1.	 India's economy needs to be greatly integrated with 
global economy so as to create large number of jobs 
and to sustain its growth momentum. 

2.	 Economic liberalization would cause large 
economic growth which would reduce poverty and 
create sufficient employment in the longe run. 

	 Which of the above assumptions is/are valid? 

(a)	 1 only 

(b)	 2 only 

(c)	 Both 1 and 2 

(d)	 Neither 1 nor 2 
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77-	,d oLrq ij] ,d nqdkunkj] ,d xzkgd dks fuEu NwV osQ 

fodYi nsrk gS %

1-	 10» vkSj 20» dh Øfed NwV vkSj rnqijkar 10» 

lsok dj dk Hkqxrku

2-	 20» vkSj 10» dh Øfed NwV vkSj rnqijkar 10» 

lsok dj dk Hkqxrku

3-	 igys 10» lsok dj dk Hkqxrku rnqijkar 20» vkSj 

10» dh Øfed NwV

fuEufyf•r esa ls dkSu&lk lgh gS\

(a)	 xzkgd osQ fy, osQoy 1 lcls vPNk fodYi

(b)	 xzkgd osQ fy, osQoy 2 lcls vPNk fodYi

(c)	 xzkgd osQ fy, osQoy 3 lcls vPNk fodYi

(d)	 xzkgd osQ fy, lHkh fodYi leku :i ls vPNs gSaA

78-	A ls Z rd osQ o.kZ 1 ls 26 rd Øe'k% Øekafdr fd, 

x, gSaA ;fn GHI = 1578 vkSj DEF = 912 gksa] rks ABC 

fdlosQ cjkcj gS\

(a)	 492

(b)	 468

(c)	 262

(d)	 246

79-	fuEu esa yqIr in @ D;k gS\

ACPQ : BESU :: MNGI : @

(a)	 NPJL

(b)	 NOJM

(c)	 NPIL

(d)	 NPJM

80-	fuEu esa dkSu&lh lcls cM+h la[;k gS\

(a)	 (1/2)–6

(b)	 (1/4)–3

(c)	 (1/3)–4

(d)	 (1/6)–2

77.	 A shop owner offers the following discount options 
on an article to a customer : 

1.	 Successive discounts of 10% and 20%, and then 
pay a service tax of 10% 

2.	 Successive discounts of 20% and 10%, and then 
pay a service tax of 10% 

3.	 Pay a service tax of 10% first, then successive 
discounts of 20% and 10% 

Which one of the following is correct? 

(a)	 1 only is the best option for the customer. 

(b)	 2 only is the best option for the customer. 

(c)	 3 only is the best option for the customer. 

(d)	 All the options are equally good for the customer. 

78.	 The letters from A to Z are numbered from 1 to 26 
respectively. If GHI = 1578 and DEF = 912, then what 
is ABC equal to

(a)	 492

(b)	 468 

(c)	 262 

(d)	 246 

79.	 What is the missing term @ in the following? 

ACPQ: BESU :: MNGI : @ 

(a)	 NPJL 

(b)	 NOJM 

(c)	 NPIL 

(d)	 NPJM 

80.	 What is the largest number among the following? 

(a)	 (1/2)–6

(b)	 (1/4)–3

(c)	 (1/3)–4

(d)	 (1/6)–2



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : HGY-P-JHKI	 Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - II

Time Allowed: Two Hours	 Maximum Marks : 200

INSTRUCTIONS 
1.	 IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION. YOU SHOULD CHECK THAT 

THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, 
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. 

2.	 Please note that it is the candidate's responsibility to encode and fill in the Roll Number and Test Booklet 
Series Code A, B, C or D carefully and without any omission or discrepancy at the appropriate places in 
the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for rejection. 

3.	 You have to enter your Roll Number on the Test Booklet in the Box provided alongside. 
	 DO NOT write anything else on the Test Booklet. 
4.	 This Test Booklet contains 80 items (questions). Each item is printed both in Hindi and English, Each item 

comprises four responses (answers). You will select the response which you want to mark on the Answer Sheet. 
In case you feel that there is more than one correct response, mark the response which you consider the best. In 
any case, choose ONLY ONE response for each item. 

5.	 You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions in the Answer 
Sheet.

6.	 All items carry equal marks. 
7.	 Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to 

fill in some particulars in the Answer Sheet as per instructions sent to you with your Admission Certificate. 
8.	 After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, 

you should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test 
Booklet. 

9.	 Sheets for rough work are appended in the Test Booklet at the end. 
10.	 Penalty for wrong answers: 
	 THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE 

OBJECTIVE TYPE QUESTION PAPERS. 
	 (i)	 There are four alternatives for the answer to every question. For each question for which a wrong answer has 

been given by the candidate, one-third of the marks assigned to that question will be deducted as penalty. 
	(ii)	 If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given 

answers happens to be correct and there will be same penalty as above to that question. 
	(iii)	 If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question. 

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

è;ku nsa % vuqns'kksa dk fgUnh :ikUrj bl iqfLrdk ds eq[k i`"B ij Nik gSA

B

UPSC (Pre) - 2020


